UGC NET 2021 Anthropology

Topic:- Anthropology_SHAAN_NOV21A

1) A tiny amount of DNA could be recovered from a crime scene. What technique will enable comparison of this DNA to
that of a potential suspect?

31uRtel @ fepdl arestr Feret A 3t wot w &l VI Ay yra &l o1¥ wlol -l Awolld 331 SI wol € @I Asnfdd sruRiell @ St vol € A dgeloll Bl 3G
ALIH Jolreofl ?

[Question ID = 1][Question Description = S2_qSNz_PG_ANTH_QO01]
DNA cloning/t wat © awifoist [Option ID = 1]

DNA sequencing/<! wat v BradfRist [Option ID = 2]

DNA recombination/st et v Rofadiotorer [Option ID = 3]

DNA fingerprinting/t et © fibsre fifdsr [Option ID = 4]

A WwWN =

Correct Answer :-
® DNA cloning/t el © aeifeisr [Option ID = 1]

2) Ridge counting is NOT possible in which of the following finger-ball patterns ?

forgsiferRae 3 2 o531 fborR dier gfcmeil 3 Rt bl swren (wrEfésr) Fsia orél & ?
[Question ID = 2][Question Description = S2_qSNz_PG_ANTH_Q02]
Whorl/grt (aa) [Option ID = 5]

Loop/emu [Option ID = 6]

Lateral pocket loop/¢iezet dfdse cqu [Option ID = 7]

Plain arch/=fitft ama (et smp) [Option ID = 8]

AW N -

Correct Answer :-

o Whorl/alet (aay) [Option ID = 5]

3) The movement of the thumb to trace a circle might best be described as :
fep2il getrp2 SO 3 3i9YS I YaTol bl S1HAT DI 8 A YdR ufeHIitia @2 Add & ?

[Question ID = 3][Question Description = S2_qSNz_PG_ANTH_QO03]
1. Abduction/smader [Option ID = 9]

2. Rotation/gufar [Option ID = 10]

3. Pronation/asiacior [Option ID = 11]

4. Circumduction/uf¥@pgr (pasasme) [Option ID = 12]

Correct Answer :-
® Abduction/smadder [Option ID = 9]

4) If a molecule of starch is repeatedly hydrolyzed, which of the following would be the final product?

afe Ferd @ v 31v] Bl Aaa U A sgiad (Hydrolyzed) fsan siar @ al siferr Scarc & u 3 fogarferiRaa 3 3 a=m g den ?

[Question ID = 4][Question Description = S2_qSNz_PG_ANTH_Q04]
1. Glucose/semrst [Option ID = 13]

2. Fructose/wackst [Option ID = 14]

3. Ribose/zmdrst [Option ID = 15]

4. Sucrose/yg@yst [Option ID = 16]

Correct Answer :-
® Glucose/semrst [Option ID = 13]

5) Dental formula of deciduous dentition (milk teeth) among humans is:
Jrordl 3 RN a - fRearT (8 & gia) o1 Sa g 3 :

[Question ID = 5][Question Description = S2_qSNz_PG_ANTH_QO05]
1.2-1-0-2

[Option ID = 17]
2.2-0-1-2

[Option ID = 18]
3.2-2-0-1



[Option ID = 19]
4, 2-1-2-0

[Option ID = 20]

Correct Answer :-
e 2-1-0-2
[Option ID = 17]

6) A group of organisms sharing a common ancestor that includes the common ancestor and all descendants is known as:
Sitdl @I g Srotml uw 81 gdst 3iiR 33 Asfl dorst onfdrer 3, waalrd 3 -

[Question ID = 6][Question Description = S2_qSNz_PG_ANTH_QO06]

1. Clan/aixq (der)

[Option ID = 21]
2. Lineage/<fifomst

[Option ID = 22]
3. Clade/domactt

[Option ID = 23]
4. Phratry/wch

[Option ID = 24]

Correct Answer :-
e Clan/sieq (der)
[Option ID = 21]

7) True brachiation mode of locomotion is found among:

forgsiferRae 31 3 fp1dl orRasil U= SIeIa 3V J1vel Bldl 3 :

[Question ID = 7][Question Description = S2_qSNz_PG_ANTH_QO07]
1. Howler monkey /e @oft [Option ID = 25]

2. Gibbon/3serw [Option ID = 26]

3. Chimpanzee/Rwuistt [Option ID = 27]

4. Lemur/cfa [Option ID = 28]

Correct Answer :-
o Howler monkey/aEer ®ft [Option ID = 25]

8) The study and identification of pollen grains is known as:

URIPIDUIT &5 3IERIGT 3i1? Ugdlol I aRIT Dal SIIdl & -

[Question ID = 8][Question Description = S2_qSNz_PG_ANTH_QO08]
1. Petrology/uifstt [Option ID = 29]

2. Palynology/dfemirerstt [Option ID = 30]

3. Pedology/usieirstt [Option ID = 31]

4. Taphonomy/2wsistt [Option ID = 32]

Correct Answer :-
® Petrology/ugieifst [Option ID = 29]

9) Who among the following made a substative contribution in human growth studies?

forgatferRaa 31 3 fRpzral Jmera gl srerIel 3 IR=HBU A ARG G ?

[Question ID = 9][Question Description = S2_qSNz_PG_ANTH_QO09]
1. Charles Darwin/arc=i sifdfor [Option ID = 33]

2. J.M Tanner/Stear 2o [Option ID = 34]

3. C. C. Li/3ft3fteft [Option ID = 35]

4. R. A. Fisher/sm. u. fibore [Option ID = 36]

Correct Answer :-
e Charles Darwin/arcaf sifdfer [Option ID = 33]

10) Who among the following was associated with the discovery of Gigantopithecus in India?



R I forgsifeiRad 3 3 wlel sirsdiel fufRra &I s A JST g3l o ?

[Question ID = 10][Question Description = S2_qSNz_PG_ANTH_Q10]
1. S. R. K. Chopra/u31. 3=. @. dust

[Option ID = 37]
2. Ashok Sahni/srele maaft

[Option ID = 38]
3. David Pilbeam/3fas firetefter

[Option ID = 39]
4. G. E Lewis/sft € afdar

[Option ID = 40]

Correct Answer :-
e S. R. K. Chopra/w31. 3. @. dlust

[Option ID = 37]

11) What is the likelihood that a man with hemophilia mating with a woman who is homozygous for the normal form of the
blood clotting factor gene will have a son with hemophilia?

S I SlrbIfern spra gy el aifden 21 el war 3 Sl 3 SHIM @ ARIGA FU dId Silel Hed bl IIRIFIG 3l dl [D gd I Seirbifern
33+l Blol bl Aol ool SRl ?

[Question ID = 11][Question Description = S2_qSNz_PG_ANTH_Q11]
1. 50%

[Option ID = 41]
2. 25%

[Option ID = 42]
3. 0%

[Option ID = 43]
4. 75%

[Option ID = 44]
Correct Answer :-
e 50%

[Option ID = 41]

12) According to Lamarckism, long-necked giraffes evolved because:

CIHAIBSH D 3GRAR, cidl 3ol dlcl SRIwI @I fadrRT g3 asiife :

[Question ID = 12][Question Description = S2_qSNz_PG_ANTH_Q12]

Nature selected only long necked ones/yafer of @dct et sIcal arel Siqail @1 ar=tet e [Option ID = 45]

Humans preferred only long necked ones/aera of dact cidl sidol arel Sigsii @ genoiar af [Option 1D = 46]

Short necks suddenly chandged into long necks/@Ict sidet srreie cidt s 9t uf¥afefa at s [Option ID = 47]

Of stretching of necks over many generations by short necked ones/®Ict sidel arel Siqail gRI ¢ difeRll dd sIder @l Xdidel @ @rur [Option ID = 48]

A w N -

Correct Answer :-
e Nature selected only long necked ones/yafer of @dct el sIcat arel Siqail @ arRiet e [Option ID = 45]

13) Prosimians include:

QiR 3 onfdrer 3 :

[Question ID = 13][Question Description = S2_qSNz_PG_ANTH_Q13]

New world monkeys, apes and humans/si gform @ gz, areR den e [Option ID = 49]
Old world monkeys, apes and humans/greft gforn @ g2, amerR aer s [Option ID = 50]
Lemurs, Lorises, and Tarsiers/cfiaRi, ciffis vd erBrRI [Option ID = 51]

Only apes and humans/dac arerz 3ii2 #itera [Option ID = 52]

A WN =

Correct Answer :-
e New world monkeys, apes and humans/si gform @ dgz, areR den aea [Option ID = 49]

14) The term"Osteo-donto-keratic culture” was given by:

"sif3esil - 3foc) - DARD Bear” ug I I fbaADd GRI & 31 -



[Question ID = 14][Question Description = S2_qSNz_PG_ANTH_Q14]
1. Wilfred Le Gros Clark/fircwsclt st aemas [Option ID = 53]

2. Robert Broom/3ed gar [Option ID = 54]

3. John Robinson/sifer 3ifewater [Option ID = 55]

4. Raymond Dart/¥is si¢ [Option ID = 56]

Correct Answer :-

e Wilfred Le Gros Clark/facwselt sp=1 aenas [Option ID = 53]

15) A gene is a section of DNA that codes for a protein; this unique sequence of bases that will code for the production of a
unique protein is:

Sitot S Tol © I U HPT 3 il Yidlal @ fore Jdd (@e) TR @ar 3, &Rl @I d6 fafdrse ayr st faoly Yidiol @ Icurcol @ fere Jdd TRIR den
3, asd:

[Question ID = 15][Question Description = S2_qSNz_PG_ANTH_Q15]

1. Exon/wawifer [Option ID = 57]

2. Intron/sscier [Option ID = 58]

3. Regulatory sequence/faformera @t [Option ID = 59]
4. Epistatic sequence/uftrefes @t [Option ID = 60]

Correct Answer :-
e Exon/uaziier [Option ID = 57]

16) Steatopygia is found in females of which tribe?

fopa Stotsiifer &bt szt d FERAUEiEn urn sman 3 -

[Question ID = 16][Question Description = S2_qSNz_PG_ANTH_Q16]
1. Toda/<rst [Option ID = 61]

2. Apache Indian/smrd sf3=et [Option ID = 62]

3. Bushman & Hottentot/ggriler ud diRorcic [Option ID = 63]

4. Garo/smi [Option ID = 64]

Correct Answer :-
e Toda/crst [Option ID = 61]

17) Who among the following has said,"Marriage is thus a dramatic encounter between nature and culture"....?

forgatferi¥ad 3 A fpormI Derel 3 "33 YR fdars ymid iR g oI siredRr e 8

[Question ID = 17][Question Description = S2_qSNz_PG_ANTH_Q17]
1. Iravati Karve/s3acdt @d [Option ID = 65]

2. L. H. Morgan/werwa. sifsior [Option ID = 66]

3. George Peter Murdock/sifst diez #isfas [Option ID = 67]

4. Levi -Strauss/crdt 3¢t [Option ID = 68]

Correct Answer :-
® [ravati Karve/sadt ot [Option ID = 65]

18) Which of the following books related to cyber Anthropology was authored by Arturo Escobar?

forgsiferae 31 3 fpol Yzaml @I AHder 3N TFPIaR GRI WA AR gJfersiret A 3 ?

[Question ID = 18][Question Description = S2_qSNz_PG_ANTH_Q18]

. Cyberculture/mssR weaz [Option ID = 69]

. Welcome to Cyberia: Notes on the Anthropology of cyberculture/deciemar ¢ arsaf¥en : silca sifel g sigjfdicifsht sifw Mmser wea= [Option ID = 70]
. Internet: An Ethnographic Approach/seoic : wel sewifspitbe sira [Option ID = 71]

. Cyborgs@Cyberspace: An Ethnographer looks at the future/3msdis3f @ JmsaR W : ol TeGIPIBR ¢l e § WA= [Option ID = 72]

A W N -

Correct Answer :-
e Cyberculture/msaz weaz [Option ID = 69]

19) Which of the following youth dormitories belongs to Oraon?

forgotfcri¥aa 3 A Dlel AT Il Y& IRIGIPIR 3R ®I & ?

[Question ID = 19][Question Description = S2_qSNz_PG_ANTH_Q19]
1. Rang bang/3srest

[Option ID = 73]
2. Ban/w@at



[Option ID = 74]
3. Gotul/=ger

[Option ID = 75]
4. Dhum Khuria/ gergfen

[Option ID = 76]
Correct Answer :-
e Rang bang/3srdsr

[Option ID = 73]

20) ldentify the terms that John Ferguson Mc Lennan coined in regulation of marriage:

331 uc bl usare! HIfSe BRI Sifel w6t dAaciootol of faars @ faformeet 3 sr6T 3 :

[Question ID = 20][Question Description = S2_qSNz_PG_ANTH_Q20]
1. Parallel cousin and Cross cousin/ad3 #I3R #IS - d&ol el HIdr - il Jafer

[Option ID = 77]

2. Levirate and Sororate/cifd3c aer i
[Option ID = 78]

3. Hypergamy and Hypogamy/sigjcildt fare (smuswtt) aen yferciot fiars (srsuenet)
[Option ID = 79]

4. Exogamy and Endogamy/afafdars (va=ipel) aen siafdas (vosered)

[Option ID = 80]

Correct Answer :-
o Parallel cousin and Cross cousin/ad? #i33 #11S - d@ol el [T - 91fdofl JAafer
[Option ID = 77]

21) Which of the following refers broadly to cultural changes which take place when two people, significantly diverse in
culture, live in long intimate contact with each other?

forratferRaa 3 A = A AR R agd sifere fafder Jivgpfa & 1 caftpl & S wifdie aforss JHder 3 ol Uz Blotardl Airgicre uf¥ader o1
forsftra @ 3 :

[Question ID = 21][Question Description = S2_qSNz_PG_ANTH_Q21]

Syncretism/3erssel (Riagfess) [Option ID = 81]
Acculturation/uz Jizmfer sur [Option ID = 82]
Enculturation/zizafesgur [Option ID = 83]
Live-in-relationship/fera - sor - Rclemtisia [Option ID = 84]

A W N -

Correct Answer :-
e Syncretism/3wissiel (Rigfess) [Option ID = 81]

22) In the discourse of human dignity and genetic alterations of human beings, the following perspectives matter:

Hlold FRATCT I 3MIolciford uf¥acdor @l 3 forgorferRaa gell @1 s1sva 3 :

[Question ID = 22][Question Description = S2_qSNz_PG_ANTH_Q22]

1. Necessary dignity and Contingent dignity/smasaes arifer e aigjenfdie srifer [Option ID = 85]
2. Homo futuralis and Homo homini lupus/2i wraRfert der ai aifdifer gu=t [Option ID = 86]

3. New Anthropology and Humanitas/sidler aifersiret aen gifeicat [Option ID = 87]

4. Transhuman and Posthuman/gizregdier den 3R arera (dlRe &gglet ) [Option ID = 88]

Correct Answer :-
e Necessary dignity and Contingent dignity/smde:ie srifer der sigjerifdre srifer [Option ID = 85]

23) Which one of the following is a typical character for a city?

forrarferRaa & A o= fopft 9182 &bt Yoot yapfer 3 :
[Question ID = 23][Question Description = S2_qSNz_PG_ANTH_Q23]



. Caste-oriented/sufer 3oaa [Option ID = 89]

. Familism/uf¥arars [Option ID = 90]

. Atomization/=aftpar (ecisstert) [Option ID = 91]
. Informalisation/smeituanf¥earars [Option ID = 92]

A WN -

Correct Answer :-

e (Caste-oriented/snfer 3saa [Option ID = 89]

24) Who applied cybernetics in Anthropology and devised a theory of human communication in his book,'Steps to an
Ecology of Mind'?

forraiferRaa 3 A fp101 gIfersiret 3 AsaReIfea DI GBI B2 U6l YIdd 'ICWA ¢ Ul sebiciisl i AEs' # Frora Aguer & Rigia o1 yferarcer
fopem 3 ?

[Question ID = 24][Question Description = S2_qSNz_PG_ANTH_Q24]
. Erving Goffman/sfdsr sitwdlor [Option ID = 93]

. Gregory Bateson/3)sist dcarat [Option ID = 94]

. Roy Rappaport/3fr 3uif¢ [Option ID = 95]

. Audrey Richards/am3g f¥agar [Option ID = 96]

A WN -

Correct Answer :-
e Erving Goffman/sfdsr sitwdior [Option ID = 93]

25) Who among the following emphasised the primacy of economics in human relationships?

forgaifeiRae 3t A fooaior atora JAdent 3 srefor< &I yemorar uz s & o :

[Question ID = 25][Question Description = S2_qSNz_PG_ANTH_Q25]
1. E. Durkheim/$ gRda [Option ID = 97]
2. M. Weber/wa. da= [Option ID = 98]
3. K. Marx/@rcf @t [Option ID = 99]
4. A. Comte/u. mwe [Option ID = 100]
Correct Answer :-
e E. Durkheim/$ gRda [Option ID = 97]
26) Giving primacy to group identity and values, Mary Douglas's work, Purity and Danger is considered as the British
counterpart to which one of the following American publications?

3131 SoreRI Bl it "RIRME Us SooR’ A AIp UsdIel dl Pl DI YrIfdddr €I 315 3 Iolbl Az Ppier forgorieiRaa 3 A fpa smif¥dl yororer ot
ol - JdD ST Faew ekl Sl 3 ?

[Question ID = 26][Question Description = S2_qSNz_PG_ANTH_Q26]

1. Margaret Mead's Coming of Age in Samoa/#s[c 3its &t Pfier aifts wst ot wilan [Option ID = 101]

2. Ruth Benedict's Patterns of Culture/¥e doifSac bt dcota sife weaz [Option ID = 102]

3. Alfred Kroeber's The Nature of Culture/sicws@mlaf &t araz siiw aweaz [Option ID = 103]
4. A.L Epstein’s Ethos and Identify/u. uet. wwicer &t seifar vs amssoect [Option ID = 104]

Correct Answer :-
e Margaret Mead's Coming of Age in Samoa/#¥)c #is &t ®fdier sifw st sot Wiz [Option ID = 101]

27) Which one of the following is known as lineal kin?
forrarferRaa & A fop2 depia Hdelt war sirar 3 ?

[Question ID = 27][Question Description = S2_qSNz_PG_ANTH_Q27]
1. The kin who branch out from the main group like uncles and cousins. /%3 2isitlt Sl FRRT WG A YD 8l S S AL AT 3R AR} 905/ AT T80t

[Option ID = 105]
2. The kin who are related to each other through marriage./d Jistft Sit fdare @ ane=1 A vb R A AsdG 3

[Option ID = 106]
3. The kin who are related to each through descent. /%3 Jiitft Sit 2fieY 2fie domeiaat 3 v g 3 Adfda &

[Option ID = 107]
4. The kin that got separated after the event of divorce./a Jidtft Gt faars facds & U e 8t 18

[Option ID = 108]
Correct Answer :-
e The kin who branch out from the main group like uncles and cousins. /%21 il Sl 7RI A9YE A YD &l Sl & AL AWM 3IR TR 9IS/ TR T&ol

[Option ID = 105]



28) Ethnoscience was concerned with describing which of the following aspect of society?

opsirfer fersiret 3 J1arst @ forgorferl3aa 3 3 b1 usey @I quis diar & ?

[Question ID = 28][Question Description = S2_qSNz_PG_ANTH_Q28]
Cultural patterns/ziizafere deof [Option ID = 109]

Symbols and Social Cohesion/3ida aer menfrp WwRister [Option ID = 110]

Cultural Grammars/ iz vt [Option ID = 111]

Cultural Characters/3tiz@fere Fawu [Option ID = 112]

AW N =

Correct Answer :-
e Cultural patterns/ziizafere Gesf [Option ID = 109]

29) Which of the following is understood as ‘ethno - etiology?

forgotferi3aa 3 A oA 'graerfersirol Hroll Sirdr 3 ?
[Question ID = 29][Question Description = S2_qSNz_PG_ANTH_Q29]

1. A culturally-specific casual explanation for health problems and suffering. /¥are J@RRIBI den ol @ e ARG D Fu 3 fiforne BRUME® =rsr [Option
ID = 113]

2. Healing that emphasises the social context. /s gor a2l Slol it AW e 3t Sar 2 [Option ID = 114]

. The study of cross-cultural health system. /sma: iafers Farre yonedt @1 stezrior [Option ID = 115]

4. Healing that emphasizes balance among natural elements within the body. /s yere Tazer glon St 98k @ Yipferd smaRrdl 3t 2igetel @ get gar & [Option ID =
116]

w

Correct Answer :-

e A culturally-specific casual explanation for health problems and suffering. /arzea JprR=Isl den el @ fore ARG U A fAfdre drRuEaae wmen [Option
ID = 113]

30) Who among the following held that social phenomena must be 'read’; not only by the Anthropologist but by members of

the society themselves?

forgaiferRaa 3 3 As fpm1 AR 3 oo ARNISID acolIsil B 3IEMRI6l of dad gidslioRll GRI, dfcd AT D A D SRl i fop=n Stren anfsu ?

[Question ID = 30][Question Description = S2_qSNz_PG_ANTH_Q30]
. David Schneider/3sfds ¥amssz [Option ID = 117]

. Victor Turner/fdaez cofz [Option ID = 118]

. Clifford Geertz/frerwrs fBrof [Option ID = 119]

. Harold Conklin/&3fcs wimferet [Option ID = 120]

A w N =

Correct Answer :-
e David Schneider/sfds amss2 [Option ID = 117]

31) Which of the following is an approach based on observations of the world rather than on intuition or faith?

forgotferRae 3 A wlol AT IUPEI 3 i faea & YgIuT U= menfyd of b2 eIl D AssIalel Uz renfyd 3 ?

[Question ID = 31][Question Description = S2_qSNz_PG_ANTH_Q31]
Empirical/smgpifees [Option ID = 121]

Hypothesis based/uf¥wcusn [Option ID = 122]

Participant observation/3ssmeft Jgror [Option ID = 123]

Deductive/fommiencaias [Option ID = 124]

A WN -

Correct Answer :-
e Empirical/smgpifdes [Option ID = 121]

32) Which of the following book was authored by Claude Levi Strauss as an Anthropological travelogue?

forraiferRaa 3 A v yzae & Faen aenss afd - IR of gpeirdi™ argugedia & su 3 & 3 ?
[Question ID = 32][Question Description = S2_qSNz_PG_ANTH_Q32]

Steps to an Ecology of Mind/3ewr ¢ uet sobfeifsht s smss [Option ID = 125]

1.
2. Tristes Tropiques/f¢zex Qifta=t [Option ID = 126]

3. Making Connections/3ifdsst worererat [Option ID = 127]

4. Talking about People/Zifcpsr warse diuer [Option ID = 128]

Correct Answer :-
e Steps to an Ecology of Mind/3ewt ¢ vel sofcifsft sirw amss [Option ID = 125]

33) Which of the following is an Acheulian site?



forgatferRaa 3 3 Plat sr9IferRIeT Ferea & ?
[Question ID = 33][Question Description = S2_qSNz_PG_ANTH_Q33]

1. Lascaux/cix@ia [Option ID = 129]

2. Star Carr/3r @R [Option ID = 130]

3. La Ferrassie/ar w331 [Option ID = 131]
4. Boxgrove/diampa [Option ID = 132]

Correct Answer :-
® |ascaux/dzaia [Option ID = 129]

34) Originally identified as mother goddess figurine, the bone artifact from Belan valley was re-identified by Wakankar as:

difere U A usdre & a1 Sl Af bl erg el Jcror a1l b sif¥er wenpfer B arB® GRI aRIT ol 31w T ?

[Question ID = 34][Question Description = S2_qSNz_PG_ANTH_Q34]

1. Harpoon/sryet [Option ID = 133]

2. Ritual object/ggsm &t axqg [Option ID = 134]
3. Scraper/3@uz[Option ID = 135]

4. Celt/@ur [Option ID = 136]

Correct Answer :-
e Harpoon/aryst [Option ID = 133]

35) Who called non-naturalistic art of lines, notches, and dots as: " time - factorial " objects?

312 - yrepfere Yarsil, zaidl sz fiigsil & wen @I "o - Jao' arqsil D U el A war e ?

[Question ID = 35][Question Description = S2_qSNz_PG_ANTH_Q35]
1. Henri Breuil/2srt gge [Option ID = 137]
2. André Leroi-Gourhan/siig R - siizsier [Option ID = 138]

3. Jean Clottes/sai aetict [Option ID = 139]
4. Alexander Marshack/smciasis? amdia [Option 1D = 140]

Correct Answer :-
® Henri Breuil/ge3t gget [Option ID = 137]

36) Who used the term "living archaeology” to refer to works by archaeologists in living humans societies?

fep3101 aredarol sirota TSt d YRIdrafacl @ oRIf ol "Asila YRIdrafdster” &l s &t ?
[Question ID = 36][Question Description = S2_qSNz_PG_ANTH_Q36]

1. lan Hodder /et &fs2 [Option ID = 141]

2. Richard Gould/f¥@s sifes [Option ID = 142]

3. Lewis Binford/cfifd=1 fderers [Option ID = 143]
4. Patty Jo Watson/d¢ct s dicarer [Option ID = 144]

Correct Answer :-
e |an Hodder/semer &tse [Option ID = 141]

37) Which of the following dating methods is used to identify minor stylistic changes in a given type through a period of

time?

forraiferRaa 3 A @it - 2 @1 - forerizor (3fés1) ugferil @1 YRieT Braiar 3 el e sre ywul 3 oy urcae ul¥ardsll &I usdare 3q e
Sirer 3 ?

[Question ID = 37][Question Description = S2_qSNz_PG_ANTH_Q37]

1. Palynology/femeicitstt [Option ID = 145]

2. Dendrochonology/3siasiiciisft [Option ID = 146]

3. Seriation/3Rurme (Juficsur) [Option ID = 147]
4. Cross-dating/@r1 3fdst [Option ID = 148]

Correct Answer :-
e Palynology/fersiteifst [Option ID = 145]

38) Who is considered the 'Father of Indian Prehistory'?

"HIRR YPIfera @I Sloid b1 Aol STieT & ?

[Question ID = 38][Question Description = S2_qSNz_PG_ANTH_Q38]
H. D. Sankalia/wa. st. 3eifern [Option ID = 149]

V. N. Misra/dt. wor. fiteg [Option ID = 150]

A. C. L. Carlleyle/u. ft. wer. @reifser [Option ID = 151]

R. B. Foote/sm. dt. e [Option ID = 152]

A W N -



Correct Answer :-
e H. D. Sankalia/wa. st 3i@ifern [Option ID = 149]

39) Which of the following rock shetters in Bhimbetka is known as The "Zoo Rock"?

sfisrdam @ 3w et i "I 3" D omd A b3 Sirel Sirer 8 ?

[Question ID = 39][Question Description = S2_qSNz_PG_ANTH_Q39]
Il F-23/11l ww - 23 [Option ID = 153]
111 C-50/111 3f - 50 [Option ID = 154]
111 C-21/111 3t - 21 [Option ID = 155]
111 F-19/11l ew - 19 [Option ID = 156]

A wWw N -

Correct Answer :-
e Il F-23/1ll ww - 23 [Option ID = 153]

40) A hoarding or notice comprising of 9 inscribed letters was found in:

9 - sifopa sigrR} arcll was uftat srerar oiifed el urs ors eoft ©

[Question ID = 40][Question Description = S2_qSNz_PG_ANTH_Q40]
1. Lothal/eherer [Option ID = 157]

2. Kalibangan/mrcfidsti [Option ID = 158]

3. Harappa/ssur [Option ID = 159]

4. Dholavira/sienfazr [Option ID = 160]

Correct Answer :-
e |othal/clerer [Option ID = 157]

41) Which of the following features best describe mtDNA?
A. It was discovered by Margit. K. Nass & Sylvan Nass

B. It codes for only 13 proteins

C. So far no disease has been ascribed to mtDNA

D. Female contribute about 60% of mtDNA to their sons

Choose the correct answer from the options given below:

forgarfeiRaa fadraansii 3 arm mt DNA @1 1@l afiad A ufesnfta wzar 3 ?

A. b et wfdfe &. &I 3iik Ricael IR @RI & o1 oft

B. u ddact 13 Qidleil & fore wif¥er waa 3

C. 3@ a® mt DNA fp=fi 351 & e Rrdicr o1df urn sk 3

D. #fden® sruat I<1 3 cemeT 60 % MtDNA I APIcet Bl 3

il fou s1u fyaseul 3 21 & 3a= goi ¢

[Question ID = 41][Question Description = S2_qSNz_PG_ANTH_Q41]

A, B only/d>aet A siiz B [Option ID = 161]
B, C only/dbaet B siiz C [Option ID = 162]
B, D only/dsaet B siz D [Option ID = 163]
B, C, D only/dact B, C 3iiz D [Option ID = 164]

A WN =

Correct Answer :-
e A, Bonly/dact A siiz B [Option ID = 161]

42) Which of the following statements about human chromosomes are true:
A. Male sex chromosomes do not look alike

B. Overall female chromosomes are shorter than that of male

C. Autosomes have genes for the same traits at the same loci

D. In every pair, one chromosome comes from each parent

Choose the correct answer from the options given below:

forraiferRaa 3 A1 Pl - A Berel Aol D IPRIGI D ar 3 Ad 3 -
A. s @ AqA QAR (JPURI)) TP AHIG o1&l Gz
B. w1 RBrciias: aifdensii @I IvRIg YHHi & PRIy A Bicl 3idl &



C. Jatrel c1givil @ Sier sifcIsiigar &t amer R-erfer (loci) uz sraf¥era sk 3

D. yRA® SIS 3 ueb PRI YAD Slolds (HIdr - firer) A 3ar 3

o Re a1e Riascdl 3 2 & a2 9ol ©

[Question ID = 42][Question Description = S2_qSNz_PG_ANTH_Q42]

1. A, B, Conly/aaet A, B siiz C [Option ID = 165]
2. B, C, D only/aqe B, C siiz D [Option ID = 166]
3. A, C, Donly/a@aet A, C 3iiz D [Option ID = 167]
4. A, B, D only/@aet A, B siiz D [Option ID = 168]

Correct Answer :-
e A, B, Conly/dact A, B siiz C [Option ID = 165]

43) Which of the following traits are true of a human male pelvis?
A. Sacrum is most of the times missing

B. Muscle attachments are more robust

C. Subpubic angle is less than 90°

D. Greater sciatic notch is less than 68°

Choose the correct answer from the options given below:

forgotferiRaa feroradnsii 3t dlol - iol Hlold gBY IfUT ggor @ arR 3 dl 3 ?
A. ferr¥er (3rm) Bt gra: srequierfer

B. aifardefir Spsra a1l yaer 1A ¥

C. srelsrEenier oot 90° 3 @ diar &

D. gaa wsufes (97 gfer) wifar 68° I wa slar &

offa fou s1e fypeul 3 21 & 3a= ot ¢

[Question ID = 43][Question Description = S2_qSNz_PG_ANTH_Q43]

1. A, B, D only/daet A, B siiz D [Option ID = 169]
2. A, C, Donly/@ae A, C iz D [Option ID = 170]
3. B, C, D only/dae B, C iz D [Option ID = 171]
4. Aand C only/a@aet A iz C [Option ID = 172]

Correct Answer :-
e A, B, Donly/dact A, B siiz D [Option ID = 169]

44) Which of the following are true for adaptation and acclimatization?

A. Acclimatization is restricted to an individual lifetime only.

B. Acclimatization and adaptation have no genetic component.

C. Long-term adaptations in humans include physiological responses to heat or excessive levels of UV light.

D. Individuals born with dark skin would not become light-skinned, even if they are never exposed to sunlight.

Choose the correct answer from the options given below:

Bmeifiiiad 3 A Dot oacTol a8 GoITGIDcTol & Heier 3 & & ?

A. cong@metd el caftp @ #1q siiasl orer a® Mfda diar 3

B. someldcret iR 3reldciel 3 PIE Iodfdrd dcd ol 3

C. Frordl & SidmIfere 3ioldyctol 3 AU 3ferdT URI Joroil fopull @ 3ca TRl & yfer ondifdes sigpfepend onfirer 3

D. & cafep Rrordhl caan Stoat A 8 orcht 31 al a d Ik &I fRp2vil i o3l o1dl 23 3l, Iorhl caan B 31 seTdI ol BN
il fou s1u fyapeul 3 21 & 3a= goi ¢

[Question ID = 44][Question Description = S2_qSNz_PG_ANTH_Q44]

1. A, B, D only/a@aet A, B siiz D [Option ID = 173]
2. A, C, Donly/@ac A, C siiz D [Option ID = 174]
3. B, C, D only/@aa B, C siz D [Option ID = 175]
4. A, B, Conly/daet A, B siiz C [Option ID = 176]

Correct Answer :-
e A, B, Donly/dact A, B siiz D [Option ID = 173]



45) Which of the following features best describe Ramapithecus?
A. The type fossils were discovered from India

B. For a long it was considered the first hominid

C. Now it has been merged in the category of Australopithecus
D. DNA studies on primates lowered its status

Choose the correct answer from the options given below:

forgotferRaa 3f 3 PBlet - A cI8I0T WIAADGA B R Got A ufdsifera i 3 ?
A. crsu Sharesii &t st siRa A &t a1 eft

B. @bl JeRI a® 3 yerer afdifors Arel Sirar e

C. 3@ 33 sifgafufiima @1 vl i Jemafera o2 ar s @

D. yrsdica & St.uoLu. 3iezrIer A sAD yRefs o A o 3

oA R s1e Riecdl # A w1 a2 o

[Question ID = 45][Question Description = S2_qSNz_PG_ANTH_Q45]

A, C, D only/a@aet A, C siiz D [Option ID = 177]
A, B, D only/a@act A, B siiz D [Option ID = 178]
A, B, C only/@>aet A, B siiz C [Option ID = 179]
B, C, D only/a@aa B, C siiz D [Option ID = 180]

AW N =

Correct Answer :-
e A, C, Donly/dae A, C 3iiz D [Option ID = 177]

46) Which of the following features are true for HbS?
A. It has a dominant and recessive relationship with HbA
B. HbS allele is most frequent in Sub - Saharan Africa

C. HB SS condition is resistent to maleria

D. Beta chain in HBS has a mutation at the 6th position

Choose the correct answer from the options given below:

HbS & fere foraiferRaa frgruarsii 3 2 @lot - M 3 3 ?

A. st HbA @5 Zmmer goirdt iR sryirdl Jider 3

B. HbS ucfier a1a - a1sRr 1wt ¥ siftrpior: Breran 3
C. HB SS fefer saf¥n &t gierters 3

D. HBS 3 dier 9jvacn @ &3 FeITel UR R BT 3
offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 46][Question Description = S2_qSNz_PG_ANTH_Q46]
1. A, Conly/daet A sz C

[Option ID = 181]
2. B, Conly/daet B sz C

[Option ID = 182]
3. B, D only/dact B 3iiz D

[Option ID = 183]
4. C, Donly/adac C sz D

[Option ID = 184]
Correct Answer :-
o A, Conly/daaAsiz C

[Option ID = 181]

47) Which of the following components take part in the clotting of blood?
A. Hemoglobin

B. Platelet factor Il



C. Albumin
D. Fibrinogen

Choose the correct answer from the options given below:
ol o Starol A forgarferRaa 3 2 Plet - A acd HPT aa & ?

A. Saechfor (Rrzaffor)
B. twiecie baez Il

C. sresyfaror

D. wrsdisirsior

offa fou s1u fRyapeul 3 2 & 3= goi ¢

[Question ID = 47][Question Description = S2_qSNz_PG_ANTH_Q47]
1. B, D only/dbaet B siiz D

[Option ID = 185]
2. C, D only/a@aet C 3z D

[Option ID = 186]
3. A Conly/adaa Asiz C

[Option ID = 187]
4. A, B only/dact A siiz B

[Option ID = 188]

Correct Answer :-
e B, D only/dact B siiz D

[Option ID = 185]

48) Which of the following helps to distinguish the skeleton of a male from that of a female?
A. Examining the pelvic opening

B. Examining the features of the skull

C. Comparing the nose shape

D. Comparing the tooth density

Choose the correct answer from the options given below:

forratferRaa 3 A o= oIR a2 HAIGT Beblel 3 iR Dol I ABRIAT BIAT & ?

A. iff1gR @1 ufsgrur w2l U

B. wura @ c1givil o1 UIIEIvT dwel U

C. o[> @ 3MBR DI geloll Bl R

D. cidi @ Jrecral bl defoll w0l U

il fou o1 frepeul 3 21 &l 3a= goi ¢

[Question ID = 48][Question Description = S2_qSNz_PG_ANTH_Q48]

1. A, D only/d>aet A siiz D [Option ID = 189]
2. C, D only/adaer C siiz D [Option ID = 190]
3. A, Bonly/dact A 3liz B [Option ID = 191]
4. B, C only/daer B iz C [Option ID = 192]

Correct Answer :-
e A, D only/dac A siiz D [Option ID = 189]

49) Which of the following features best describe Homo floresiensis?
A. lIts fossils were first discovered in Italy

B. The cranial capacity is estimated to be about 420°cc

C. The female skeleton was found to be very tall

D. They are popularly nicknamed as "hobbits"

Choose the correct answer from the options given below:



forgatfcri3aa 3t 3 ot - i fAadrgany aien - waRRiefowa &1 & Fu 3 ufssnfta war 3 ?

A. 1@ ugsa Sifaredl & st secll 3 &l o1 off

B. s3rdhl spurciir grarer b1 3iodTel ¢PBPT 420°cc &
C. JIGI BPIc BIHI AT URIT SRIT AT

D. 358 "gifeacat” o> Iuelet A YPRI SIAl o1

oiil feu are el 3 A At IR ol ©

[Question ID = 49][Question Description = S2_qSNz_PG_ANTH_Q49]
1. A, B only/dbact A 3iiz B

[Option ID = 193]
2. B, Conly/dac B sk C

[Option ID = 194]
3. A, Donly/addet A sie D

[Option ID = 195]
4. B, D only/@qe B siz D

[Option ID = 196]

Correct Answer :-
® A, Bonly/dact A siiz B

[Option ID = 193]

50) Which of the following features are true for Australopiths?

A. They are the longest-enduring hominins, more than 3 million years
B. Some of the Australopithecus fossils were taller than 6 feet

C. Their type fossil was discovered by Raymond Dart

D. The Australopiths discovered from Australia are the most advanced

Choose the correct answer from the options given below:

siizgciftiery & an 3 fwoifeiRaa 3 A Bl -2t Ridraans 18l 3 ?

A. d a9 ferp o1 Alfdiforea 3, it 3 fiferior auf 2 ofi sif2r adf 2 disic &
B. @® siteQfiifRe sfiarear 6 ic 3 ot aiftrs 35 &

C. Jord> <y Shiaredt &l Fist Vs 31E GRI Bl o1 oft

D. sifedferar 2 X a1w sifeclfifaa wres) siftres Rl &

il 3w o1 et 3 A wE 3= goi ¢

[Question ID = 50][Question Description = S2_qSNz_PG_ANTH_Q50]

A, C only/d>act A siiz C [Option ID = 197]
B, D only/daet B siiz D [Option ID = 198]
A, B only/d@aet A siiz B [Option ID = 199]
C, D only/asaet C siz D [Option ID = 200]

AW N =

Correct Answer :-
® A, Conly/dac A siiz C [Option ID = 197]

51) Which of the following variables determine a class in Marxian sense?
A. Conflicts over the distribution of economic rewards between the classes.
B. Profound dissatisfaction of the higher class over its inability to control the economic structure.

C. Easy communication between the individuals in the same class positions so that ideas and action programs are
readily disseminated.

D. Establishment of a political organization resulting from the economic structure, the historical situation, and maturation of
class-consciousness.

Choose the correct answer from the options given below:

=t @ SioRIR fowaiferRaa 3 A fivor uftact A fp=dt aof & sraenzor Bl 3 ¢



A. 3iErd fafdroor ol & F1ewr snffes yepR @t faaror 3

B. snf¥fes el @1 forifefa @2t Bl ruofl RIS Bl dIb2 Icaast & #R sRidg

C. o & qui &t Referil 3 caftpal & @t JoEI AAR aifes R sk erRiva Adel orRiagH! B Il I T e YAR 3 AD
D. 3nféfe Jizaen dfersiRes Rafe iz aof - Aqon &t ufvvifer & wu 3 swElfre Horoor Bt Femusn

ofid fou o1 el 3 A 8t S gl ¢

[Question ID = 51][Question Description = S2_qSNz_PG_ANTH_Q51]
1. A, B and C only/dae A, B siiz C

[Option ID = 201]
2. A, B and D only/daer A, B 3iiz D

[Option ID = 202]
3. B, Cand D only/a@ae B, C sz D

[Option ID = 203]
4. A, Cand D only/@qe A, C ik D

[Option ID = 204]

Correct Answer :-
e A, Band Conly/dac A, B iz C

[Option ID = 201]

52) Who among the following Anthropologists conducted re-studies?
A. Derek Freeman

B. Bruno Latour

C. Zora Neale Hutson

D. Annette Weiner

Choose the correct answer from the options given below:

forgaiferRaa 3 A Rpa1 aAreraoR Rl of yolsierior fopan ?
A. ¥ Wit

B. goll R

C. Sirr offer aetol

D. Yole diorr

ofl fou a1 famcul & A 78 32 got :

[Question ID = 52][Question Description = S2_qSNz_PG_ANTH_Q52]
1. Aand B only/@act A siiz B

[Option ID = 205]
2. Band C only/d@aer B siiz C

[Option ID = 206]
3. Aand D only/@ac A siiz D

[Option ID = 207]
4. Cand D only/daet C sk D

[Option ID = 208]

Correct Answer :-
® Aand B only/dact A 3l B

[Option ID = 205]

53) Which of the following changes are related to Sanskritisation?
A. Positional

B. Structural

C. Cultural

D. Social

Choose the correct answer from the options given below:



forgaifeiRaa 3 3 lat - a1 ulkada v 2 FEfa 3 ?

A. saf¥eferbt

B. izaolca®

C. Az

D. s

il fou s1u fyaseul 3 2 W& Fa= goi ¢

[Question ID = 53][Question Description = S2_qSNz_PG_ANTH_Q53]

A, B and C only/@ac A, B siiz C [Option ID = 209]
A, B and D only/d@ae A, B sfiz D [Option ID = 210]
B, C and D only/a@aet B, C siiz D [Option ID = 211]
A, C and D only/dsaer A, C siiz D [Option ID = 212]

A W N -

Correct Answer :-
e A, Band C only/@act A, B siiz C [Option ID = 209]

54) Identify the "scapes” that Arjun Appadurai proposed in his study of the Anthropology of Globalization?
A. Ethnoscape

B. Globalscape

C. Financescape

D. Technoscape

Choose the correct answer from the options given below:

3ol "TFduA" bl usarel HIfSe Sl 3okt sroargE ol sruol s1ERIel A%diapv1 @I Aletafdsilol A gdifad fovar ar ?
A. vepidu

B. scllacrau

C. BEolFdU

D. easirau

il fou s1e fraseul 3 3 & Fa= goi ¢

[Question ID = 54][Question Description = S2_qSNz_PG_ANTH_Q54]

A, B and C only/@aet A , B 3iiz C [Option ID = 213]
B, C and D only/d@act B, C siiz D [Option ID = 214]
A, B and D only/a@aet A, B siiz D [Option ID = 215]
A, C and D only/aaet A, C 3iiz D [Option ID = 216]

A W N -

Correct Answer :-
e A, Band Conly/dact A, B aiiz C [Option ID = 213]

55) Which of the following factors are responsible for indirect infanticide?
A. Food deprivation

B. Drowning

C. Smothering

D. Failure to take a sick infant to a clinic

Choose the correct answer from the options given below:

sgeaer fOref Jeg @ fere foraiferRaa 3 A dlal A BR® IJacrll 3 :

A. siiSter A dfera  (arer ucref or 3pia)

B. Ste1 forril 3 sdon

C. cariraRier

D. ¥our forg] @I feretfore aw® < Sirol 3 fawerar

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 55][Question Description = S2_qSNz_PG_ANTH_Q55]



A and D only/dbaet A siiz D [Option ID = 217]
A and B only/dact A siiz B [Option ID = 218]
B and C only/dsaet B iz C [Option ID = 219]
C and D only/aaet C siiz D [Option ID = 220]

A WN -

Correct Answer :-
® A and D only/aaea A siiz D [Option ID = 217]

56) Find out the strands of Marxist Anthropology
A. Cultural Marxism

B. Structural Marxism

C. Political Economy

D. Process Theory

Choose the correct answer from the options given below:

rarét aArrafasiror ot fadraad gfeu :

A. Tz araeiag

B. izgeicas aAraiac

C. Iseifern srefemazen

D. gk et (gfeperor Rigia)

il fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 56][Question Description = S2_qSNz_PG_ANTH_Q56]

A, C and D only/daet A, C siiz D [Option ID = 221]
A, B and C only/d@aa A, B siiz C [Option ID = 222]
B, C and D only/d@5aa B, C sfiz D [Option ID = 223]
A, B and D only/d@aa A, B sfiz D [Option ID = 224]

A W N -

Correct Answer :-
e A, Cand D only/@ae A, C 3iiz D [Option ID = 221]

57) Which of the following three principal areas had been explored by Levi-Strauss to search for the underlying Structures
of Social life?

A. System of classifications
B. Kinship theories

C. Models of Social structure
D. Logic of Myth

Choose the correct answer from the options given below:

AT Shtdot &t sioafsifda Faeisil o1 udr cemer & fore ardl = 3¢ of foeiferRaa dier Jear &gl @1 yferurcar fopar e
A. oeifeur ugfh

B. siderdt Rigia

C. Al Faon o disd

D. firers @1 ao

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 57][Question Description = S2_qSNz_PG_ANTH_Q57]

A, B and C only/@act A, B siiz C [Option ID = 225]
A, B and D only/d@act A, B sfiz D [Option ID = 226]
B, C and D only/d@5aa B, C sfiz D [Option ID = 227]
A, C and D only/daer A, C siiz D [Option ID = 228]

A WN -

Correct Answer :-
e A, Band C only/@act A, B siiz C [Option ID = 225]

58) Which among the following are true about Toda tribe?
A. Studied by W.H.R Rivers
B. Practice polyandry

C. Men and Women engage in Pastoralism



D. Inhabit Udagamandalam

Choose the correct answer from the options given below:

forgotferfRaa 3 A AST Stotonfer & a3 a=m W 3 ?

A. Soc31 wa 3R Rast gRI sorb 31erIel fip=m sR

B. somi sgufer - gear o1 yacret 3

C. gy 3l aAfgend awaig o1 orl ok &

D. Igeiscia 3 forart @ 3

ofia 3w a1 el 3 A A& a2 goi :

[Question ID = 58][Question Description = S2_qSNz_PG_ANTH_Q58]

A, B and D only/a@aet A, B 3iiz D [Option ID = 229]
A, B and C only/@ac A, B siiz C [Option ID = 230]
B, C and D only/a@aet B, C siiz D [Option ID = 231]
A, C and D only/@aer A, C siiz D [Option ID = 232]

A w N =

Correct Answer :-
e A, Band D only/@ac A, B siiz D [Option ID = 229]

59) Which of the following express synoptic charts?

A. Relationship between ethnographic data.

B. Outline of the framework of cultural actions.

C. Complex relations are shown systematically

D. Supplemented with genealogies,maps,plans and diagrams

Choose the correct answer from the options given below:

forgotferfRan 3t A Rpadt FARcoEl aré &t sifircafer Breredt 3 :

A. SfSIrciiRI sricpst & areRr Jder

B. wpizpferes fogzn wea & Barad & wuar

C. sifec Fdel B Gieg WU A GorlII SIrer 3

D. domach - aimeifg, Atsromail itz am¥a 3 so¥ srepyfya fvar simar 3

il 3w a1 fyaseul 9 A W& 3R goi ¢

[Question ID = 59][Question Description = S2_qSNz_PG_ANTH_Q59]

A and D only/d@act A siiz D [Option ID = 233]
A and B only/@4et A siiz B [Option ID = 234]
B and C only/dact B sfiz C [Option ID = 235]
. Cand D only/aaet C siiz D [Option ID = 236]

AW N =

Correct Answer :-
e Aand D only/d>aet A siiz D [Option ID = 233]

60) Which of the following Articles in the Constitution of India provide representations to scheduled castes and scheduled
Tribes?

A. Article 15
B. Article 17
C. Article 334
D. Article 16

Choose the correct answer from the options given below:

aireclir 3ifienor & RrorfiiRaa Root 3oreddl 3 sioffia snfril sz AreRIfra soruRRio! YR Rar srr 3 ?
A. 31ggeds 15

B. srogedbs 17

C. 3rogedc 334

D. arodc 16

o R s1e Risedi 3 A 78 sa gal



[Question ID = 60][Question Description = S2_qSNz_PG_ANTH_Q60]

A, C and D only/dsaet A, C siiz D [Option ID = 237]
B, C and D only/a@act B, C siiz D [Option ID = 238]
A, B and C only/d@act A, B siiz C [Option ID = 239]
A, B and D only/@act A, B siiz D [Option ID = 240]

A W N -

Correct Answer :-
e A, Cand D only/dac A, C siiz D [Option ID = 237]

61) Pluvial deposits found in East Africa are:
A. Kanjeran

B. Makalian

C. Nakuran

D. Gamblian

Choose the correct answer from the options given below:

ydl srgioor # aut @ Sit fB1gia (vgfager f$ulfsic) ume #19,d 3 :

A. TRa

B. spifersior

C. orepRror

D. Sifdeerior

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 61][Question Description = S2_qSNz_PG_ANTH_Q61]

A, B only/@aet A siiz B [Option ID = 241]
B, C only/@ae B siiz C [Option ID = 242]
C, D only/daet C siiz D [Option ID = 243]
A, D only/a@aet A siiz D [Option ID = 244]

A W N -

Correct Answer :-
e A, Bonly/daac A siiz B [Option ID = 241]

62) The Priest-king statuette found in Mohenjodaro shows which of the following features?
A. Bearded head and shaven upper lip

B. Hair is bunched in a bun at the back

C. Armband with quatrefoil engravings

D. Headband with a circular amulet on the forehead

Choose the correct answer from the options given below:

HisoTSlIGRI 3 UTe 318 YSidl - Iren &t o yferen forgorferfRaa 3 A1 fopor faroraansii ot gorfet 3 :
A. B13 uz drer aen ssiad v g3 Hudl siice

B. I® drcil @1 AIS®2 FolRI SR ST

C. sraoroft b gan dluferm arside

D. Iza® uz siiclibR drdisl @ AT A3doG

ofi fou a1 el 3 A 8t STz ol ¢

[Question ID = 62][Question Description = S2_qSNz_PG_ANTH_Q62]

A, B and C only/daet A, B siiz C [Option ID = 245]
B, C and D only/a@aer B, C iz D [Option ID = 246]
A, C and D only/daet A, C siiz D [Option ID = 247]
A, B and D only/a@aet A, B aiiz D [Option ID = 248]

A w N -

Correct Answer :-
e A, Band Conly/@ad A, B siiz C [Option ID = 245]

63) Neolithic sites in Gangetic plains are:
A. Mehergarh
B. Chopanimando

C. Koldihwa



D. Mahagara

Choose the correct answer from the options given below:

3jo1 @ IAcToll T 3 STaUIHIVRISHlol Feret 3 -

A. w16

B. drursiisrist

C. oIcdlsar

D. sePG

ofla fou s1e fraseul 3 3 I Fa= goi ¢

[Question ID = 63][Question Description = S2_qSNz_PG_ANTH_Q63]

. A, Band C only/adaet A, B siiz C [Option ID = 249]
. A, Cand D only/aaet A, C siiz D [Option ID = 250]
. A, Band D only/dqet A, B siiz D [Option ID = 251]
. B, Cand D only/@aet B, C sfiz D [Option ID = 252]

A W N -

Correct Answer :-
e A, Band C only/dact A, B siiz C [Option ID = 249]

64) Examples of "Features" in The archaeological record are:
A. Hearths

B. Burials

C. Rubbish bins

D. Home art

Choose the correct answer from the options given below:

gRIaifeas sifdrera 3 Brero! arcll 'fadraamsil & 3grvr 3 :

A. st

B. @g

C. msI6I6T

D. spgwen

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 64][Question Description = S2_qSNz_PG_ANTH_Q64]

1. A, B and C only/daet A, B siiz C [Option ID = 253]
2. A, Cand D only/aaet A, C 3iiz D [Option ID = 254]
3. A, Band D only/dda A, B siiz D [Option ID = 255]
4. B, C and D only/@>ae B, C siiz D [Option ID = 256]

Correct Answer :-
e A, Band C only/daa A, B siiz C [Option ID = 253]

65) Which of the following are Iron Age sites?
A. Hastinapur

B. Malwa

C. Ahar

D. Atranjikhere

Choose the correct answer from the options given below:

forgotferfRaa o A wlor clisyeliar rera 3 ?

A. si¥enyz

B. smear

C. sB2

D. o

ofid fou a1 el 3 2 A8t S gt ¢

[Question ID = 65][Question Description = S2_qSNz_PG_ANTH_Q65]



A and B only/daet A 3liz B [Option ID = 257]
B and C only/dqct B sfiz C [Option ID = 258]
C and D only/aaet C siiz D [Option ID = 259]
A and D only/@ac A siiz D [Option ID = 260]

A W N -

Correct Answer :-
® A and B only/@act A 3iiz B [Option ID = 257]

66) Match List | with List Il

List |

List Il

A. T. R. Malthus

I. Natural History

B. Comte de Buffon

Il. Principles of Geology

C. James Hutton

lll. Theory of the Earth

D. Charles Lyell

Choose the correct a

nswer from the options given below:

gl -1 @ 3 -1l A Fgafera Hifste ¢

Rreht - et -1l

A. . 3IR. ATCeRT I, Siger R

B. @ise f3 gwiet Il. R sife Rrircish

C. Si& adfol 1. e2ist sifw 5 aref

D. @rea arsger IV. %61 w22 sifar g Rjf¥raca sif divicieret

IV. An Essay on the principles of population

ofla fou o1 frseul 3 ¥ A IR gforw ©
[Question ID = 66][Question Description = S2_qSNz_PG_ANTH_Q66]

A-1I,B-1V,C-1, D - Ul [Option ID = 261]
WV, B-1, C- L, D -l [Option ID = 262]
W, B-1,C-1v,D -l [Option ID = 263]

[, B-1V,C- 1, D-[Option ID = 264]

A W N -

A -
A -
A -

Correct Answer :-
e A-I1l,B-1V,C-1,D-Ill[Option ID = 261]

67) Match List | with List Il

List | List Il

A. Mental foramen 1. Skull

B. Foramen magnum Il. Femur

C. Manubrium 1ll. Mandible
D. Linea aspera IV. Sternum

Choose the correct answer from the options given below:

et -1 B e -1l A @ Hife

et -1 et -lI

A. dicet Toe |. Zast
B. JerRe] Il. Glarz
C. JiofeRma . srefzo]
D. cfiform geu=r V. 32AfFer

oifY feu oru famedl 3 A 8 3R gforuo :
[Question ID = 67][Question Description = S2_qSNz_PG_ANTH_Q67]

1. A-U,B-L,C-LlV,D- U [Option ID = 265]
2. A-,B-U,C-1,D-LV[Option ID = 266]
3. A-U,B-LV,C-1L,D- llL[Option ID = 267]
4. A-1V,B-1,C-LU,D-L[Option ID = 268]
Correct Answer :-

e A-I,B-,C-LV,D- L [Option ID = 265]

68) Match List | with List Il

List |

A. Edward's syndrome
B. Klinefelter's syndrome
C. Turner's syndrome Ill. 21 Trisomy

D. Down's syndrome IV. 44, XXY
Choose the correct answer from the options given below:

List Il
. 44, XO
Il. 18 Trisomy




It -1 Bt et -1l A gakma Hifde

Rt -1 Rreht -1l

A. gsas @I AHc1giur I. 44, XO

B. acirsoldbe? ol HcIgivl 1. 18 fef - sprRIq
C. <ol @1 Actgior Il. 21 fef - sporRIe
D. S136l @I AHc1gIvr IV. 44, XXY

il f3u o1 fyseul 3 A At IR gom :

[Question ID = 68][Question Description = S2_qSNz_PG_ANTH_Q68]

A-1,B-1V,C-l D - [Option ID = 269]
A-1,B-1V,C-L, D -l [Option ID = 270]
A-1,B-l,C-V,D -l [Option ID = 271]
A-1l,B-1,C-UL,D-V[Option ID = 272]

A w N -

Correct Answer :-
e A-I,B-LlV,C-LlL D-L[Option ID = 269]

69) Match List | with List Il

List |

List Il

IA. Inborn errors of metabolism

I. Alec Jeffreys

B. DNA Fingerprinting

1. Kary Mullis

C. Genetic drift

Il. A. E. Garrod

D. Polymerase Chain Reaction technique

IV. Sewall Wright

Choose the correct answer from the options given below:

et -1 B e -1l A g i

oxet -1 oxet -l

A. sordiol g3 3ife Acrdifersa |. oD Sedist
B. <1 val u fberigyfesr Il. &8 gfera

C. SR e Ill. @ €. 31

D. difersrest <Ie1 fruagret eaeiiad V. Jxare Ise

oif<l feu ore fqedl 3 A A8 3R gfore :

[Question ID = 69][Question Description = S2_qSNz_PG_ANTH_Q69]

1. A-LIV,B-L,C-U,D-U

[Option ID = 273]
2. A-ILB-L,C-U,D-LV

[Option ID = 274]
3.A-LB-lV,C-1,D- 1l

[Option ID = 275]
4. A-U,B-L,C-LlV,D-U

[Option ID = 276]
Correct Answer :-
e A-LV,B-L,C-U,D-U

[Option ID = 273]

70) Match List | with List Il

List |

List Il

A. Jaques Derrida

I. Writing culture

B. R. Behar & Gordon, D

Il. Writing Against culture

C. Clifford, J & Marcus, G.E

Il. Women Writing culture

D. Abu-Lughod, L

IV. Writing and Difference

Choose the correct answer from the options given below:

et -1 B e -1l A e Hife

et -1

et -1

A. Sta sfest

|. rsfésr Bear

B. 3. 982 Us aifSel St

Il. a1sféar 3PlTe dear




C. frereis S us A Sitd Ill. gdtor Irsfésr wear
D. arg cIedis waa IV. Jsfsr os Bw3a
oifY feu oru famedl 3 A A8 3R gforu :

[Question ID = 70][Question Description = S2_qSNz_PG_ANTH_Q70]
1. A-1,B-ll, C-lV, D-L[Option ID = 277]
2. A-,B-1,C-LU,D-LV[Option ID = 278]
3. A-UL,B-1V,C-1L,D-ll[Option ID = 279]
4. A-1V,B-1,C-1,D- U [Option ID = 280]

Correct Answer :-
e A-I,B-1l,C-Llv, D-L[Option ID =277]

71) Match List | with List Il

List | List Il

A. Structural school I. Cora-Du-Bois

B. Structural-Functional schoollll. Levi Strauss

C. Psychological school lll. W. H. R. Rivers
D. Diffussionary school IV. Radcliffe - Brown

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et - | et -1

A. J¥eardt Faxe I. ®r1 - 5, - disa

B. izcoard} fiprca® ot Il. et <1

C. Folidsiiors Fayet lll. sec3y, war. oI, fyasd
D. garardt Fae IV. Jsiiee 8ot

oif<l feu o1e fpedl 3 A A8 3R gfore :
[Question ID = 71][Question Description = S2_qSNz_PG_ANTH_Q71]

A-1l,B-1V,C-1,D-lll[Option ID = 281]
A-lUl, B-1, C-1V, D - Ul [Option ID = 282]
A-1,B-1lll,C-1V,D -l [Option ID = 283]
A-1V,B-1,C-1L, D -l [Option ID = 284]

A W N -

Correct Answer :-
e A-I,B-LV,C-1,D- L [Option ID = 281]

72) Match List | with List Il

List | List Il

A. Margaret Mead I. Annette Weiner

B. B. Malinowski Il. Derek Freeman

C. Roy Rappaport lll. Talal Asad

D. Frederik Barth IV. Jonathan Friedman

Choose the correct answer from the options given below:

et -1 B e -1l A g i

Rxeht -1 il

A. sl s |. golc dlor

B. . snfersitaz<bt Il. 3¥b Bldrer

C. 3 Juraré . aerer sRIc

D. wsfraaret IV. Siteirerer BGrssdiol

ofla fou o1 freseul 3 3 A IR gforw ©
[Question ID = 72][Question Description = S2_qSNz_PG_ANTH_Q72]

A-1V, B-Ul, C-1,D- Ul [Option ID = 285]
A-U, B-1,C-LV,D-[Option ID = 286]
A-1, B-1,C-1V, D- Il [Option ID = 287]
A-1,B-1V,C-Ll,D- L [Option ID = 288]

AW N -

Correct Answer :-
e A-LV, B-ll, C-,D-Lll[Option ID = 285]

73) Match List | with List Il

List | List I
A. F. Boas |I. Azande




B. Radcliffe-Brown

II. Inuit

C. B. Malinowski

Ill. Kariera

D. E. Evans Pritchard

IV. Trobriand Islanders

Choose the correct answer from the options given below:

et -1 B e -1l A g Hife

et -1 Rt -1l

A. ow. ST K ©id

B. Jsfaere 3ot Il. sode

C. &t anfereiras<bt Ill. ®f¥ear

D. ¢. $are Recars IV. ifyus smscisa

ofiax 3w o1 el 3 A At I gfom :
[Question ID = 73][Question Description = S2_qSNz_PG_ANTH_Q73]

A-1,B-U,C-LV,D-([Option ID = 289]
W, B -1V, C-1,D -l [Option ID = 290]
WV, B-1l, C-1,D - Ul [Option ID = 291]

A -
A.
A-1,B- U, C-1l,D-V[Option ID = 292]

AW N =

Correct Answer :-
o A-I,B-1L C-1LlV,D-L[Option ID = 289]

74) Match List | with List Il

List | List Il

A. Nevasa I. Neolithic

B. Attirampakkam 1. Mesolithic

C. Gufkarl Ill. Lower Palaeolithic
D. Adamgarh IV. Middle Palaeolithic

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

ot -1 et -l

A, orarn |. STauTsIoT PIctiel

B. siftreruadma Il. ez urdreT cbIctiol

C. sprrct Ill. forgst YRraramvImIclior
D. sncHelG IV. 3re=1 gRIuTIUT PBrcilel

oif<l feu are famedl 3 A A8 3R gfore :
[Question ID = 74][Question Description = S2_qSNz_PG_ANTH_Q74]

A-1,B-1l,C-lLD-LV[Option ID = 293]
A-1V,B -1, C-llL, D -l [Option ID = 294]
A-1,B-1V,C-1l,D- Il [Option ID = 295]
A-1V,B-UL, C-1,D -l [Option ID = 296]

A WN -

Correct Answer :-
e A-|,B-I,C-L,D-LV[Option ID =293]

75) Match List | with List Il

List |
A. Lewis Binford
B. Richard Lee

List Il

I. 'Kung San

Il. Coxoh Maya Indians
C. Brain Hayden IIl. Nunamiut Eskimo
D. James O' Connell IV. Hadza

Choose the correct answer from the options given below:

et -1 B e -1l A g e

et -1 et -l
A. Rifrr Riowts I. ot armer

B. fas cft II. ot s $RacH
C. grroT 23a1 11, oponfirge wRwan
D. Siwar adt wioiar IV. s

offa fou o1 frpeul 3 3 A I gforw ¢
[Question ID = 75][Question Description = S2_qSNz_PG_ANTH_Q75]

1. A-,B-1I,C-1L, D-LV[Option ID = 297]



2. A-U,B-L,C-l,D-LV[Option ID = 298]
3. A-I,B-L C-Lll, D-LV[Option ID = 299]
4. A-U,B-LV,C-,D- U [Option ID = 300]

Correct Answer :-
e A-[,B-1L,C-UL,D-LV[Option ID = 297]

76) ldentify the correct sequence of the following major fossils in the ascending order of their discovery

A. Neanderthal Man

B. Homo erectus

C. Homo habilis

D. Australopithecus africanus

Choose the correct answer from the options given below

forgsiferRaa ygza Sfiarodl @I Io1d> ISl D GG+ U Ad DAHGRIR RIAR-erd @3 :
A. forgorsefar o

B. gl s¥aca

C. g 3fafera

D. smecifufirasa efigdseizn

ofid fou o1 el 3 A 8t ST gl ¢

[Question ID = 76][Question Description = S2_qSNz_PG_ANTH_Q76]

1. A, C, B, D [Option ID = 301]
2. B, A, D, C [Option ID = 302]
3. D, C, A, B [Option ID = 303]
4. A, B, D, C [Option ID = 304]

)

» Dy

Correct Answer :-
e A, C, B, D[Option ID = 301]

77) ldentify the correct sequence of the following blood group systems in the ascending order of their discovery

A. Bombay Blood group
B. MN Blood group

C. Rh Blood group

D. Duffy Blood group

Choose the correct answer from the options given below

el @ 96 g8 aF 3 oraferRaa 3o - A3E (ec1s apu) dql D A8 @3 Bl usare HIfv :
A. 9159 =13 s[u

B. ©wa wol scts 3u

C. 3R wa =c13 U

D. sl se1s spu

ofid fou a1 el 3 A A8t 3T gl ¢

[Question ID = 77][Question Description = S2_qSNz_PG_ANTH_Q77]

A, C, D, B [Option ID = 305]
B, A, C, D [Option ID = 306]
D, B, A, C [Option ID = 307]
B, C, D, A [Option ID = 308]

A w N =

Correct Answer :-
e A, C, D, B[Option ID = 305]

78) Which of the following options lists the steps of the scientific method in order?
A. Observation

B. Prediction

C. Experimentation

D. Hypothesis developments



Choose the correct answer from the options given below

demiford uglerIl @ arvil &I It @I forotfeiRaa 3 wlot - AT ey cal¥era o 3 ?
A. 3raciidol

B. srojdrer

C. ger

D. uf¥@wecuen atler

ofla fou s1e fyaseul 3 3 & Fa= goi ¢

[Question ID = 78][Question Description = S2_qSNz_PG_ANTH_Q78]

A, C, D, B [Option ID = 309]
D, B, A, C [Option ID = 310]
B, D, C, A [Option ID = 311]
A, D, B, C [Option ID = 312]

A W N -

Correct Answer :-
e A, C, D, B [Option ID = 309]

79) Arrange the following events of meiosis in the correct chronological sequence.
A. Synapsis

B. Disappearance of nucleus

C. Terminalisation of chiasmata

D. Crossing over

Choose the correct answer from the options given below

PRI (R1BNRRI) &l fwoifeRaa acsisll ol PIaRHGRIR Ral-erd o3 :

A. RBriftarr

B. dogm @I cliuct

C. RT3l (PIETsHIc) BI A6
D. uremsil Ja2ur (BificT 3aR)

il feu sru faresedl 3 A A Ia= ol ¢

[Question ID = 79][Question Description = S2_qSNz_PG_ANTH_Q79]
1. A,B,D, C

[Option ID = 313]
2. AD,C,B

[Option ID = 314]
3. B,A,CD

[Option ID = 315]
4. D,C, A B

[Option ID = 316]

Correct Answer :-
e A B,D,C

[Option ID = 313]

80) Arrange in the correct sequence of these publications in Anthropology of Gender in the ascending order:
A. Henrietta Moore's Feminism and Anthropology

B. R, Behar and D. Gordon's Women Writing Culture

C. Sherry Ortner's Making Gender: The Politics and erotics of Culture

D. Rosaldo, M. Z and Lamphere L's Women, Culture and Society

Choose the correct answer from the options given below

TeUlcilsil it Sis? UR YdIfora sol Jaclisll ol a6 gu Hdl ad 3 raf¥ed @3 -



A. 3ordier 3z &I Bidiforsa Us veUlelsit

B. 3= 932 3z 3. SISa &t gt st dear

C. 913 sifez &l Afpar Sis? © g diferleart us 3Afeasd siie deer

D. 3sIres], wd. Sis. 3R PR uel. &l ggiel B U ARIRIEL

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 80][Question Description = S2_qSNz_PG_ANTH_Q80]

A, D, B, C [Option ID = 317]
B, C, A, D [Option ID = 318]
A, B, C, D [Option ID = 319]
D, A, B, C [Option ID = 320]

A W N -

» Ay

Correct Answer :-

e A, D, B, C[Option ID = 317]

81) Arrange the sequence of different successive forms of religion.
A. Polytheism

B. Animism

C. Monotheism

D. Animatism

Choose the correct answer from the options given below

et @ fafdioor @fdrs raweul ol 218l a@1 A =raf¥erda o3 :

A. sgérazarc

B. sfigarg

C. gaazag

D. srs¥stlaarars (sofiafsa)

ofia 3w a1 fawcal 3 A A& a2 goi :

[Question ID = 81][Question Description = S2_qSNz_PG_ANTH_Q81]

D, C, A, B [Option ID = 321]
C, A, D, B [Option ID = 322]
B, D, A, C [Option ID = 323]
A, C, D, B [Option ID = 324]

A w N =

Correct Answer :-
e D, C, A, B[Option ID = 321]

82) Arrange the correct sequence of the following in their ascending order of appearance:
A. Symbolic Anthropology

B. Practice Theory

C. Post-structuralism

D. Anthropology and Gender

Choose the correct answer from the options given below

forgotferfRaa ol yadlaur & aad gu A8l @A 3 caaf¥ed o3 -

A. ydircas aArerafdsier

B. smarvur RBigia

C. 3R oldic

D. srerafdsiret siiz Sise

il 3w a1 fyaseul 3 A W& 3a= goi ¢

[Question ID = 82][Question Description = S2_qSNz_PG_ANTH_Q82]

. A, D, B, C [Option ID = 325]
D, B, A, C [Option ID = 326]
B, D, C, A [Option ID = 327]
B, A, D, C [Option ID = 328]

1
2 )
3.

4 ) ’



Correct Answer :-
e A, D, B, C[Option ID = 325]

83) Identify the correct sequence of E. Evans - Pritchard's important Publications
A. The Kinship and Marriage among the Nuer

B. Theories of Primitive Religion

C. The Nuer

D. Witchcraft, Oracles, and Magic among the Azande

Choose the correct answer from the options given below

$ zaiv - fYcars @ ssrayyl yw1ereil & A3l sioapd b usdre HIfse :

A. g foporfdru us difyst wdisr © ogue

B. ettt sifw fyfdifea RfeifSisr o

C. s qm

D. fraarwe, R®A TS JAfSID THHoT g 361

offa fou s1u fyeseul 3 2 & 3a= goi ¢

[Question ID = 83][Question Description = S2_qSNz_PG_ANTH_Q83]

. A, D, C, B [Option ID = 329]
, A, C [Option ID = 330]
, A [Option ID = 331]
, A [Option ID = 332]

B, D
C, B,
B, C

)

1
2
3.
4

O O

)

Correct Answer :-
e A, D, C, B[Option ID = 329]

84) Arrange the following sites from West to East:
A. Kalibangan

B. Banawali

C. Chanhudaro

D. SukTagendor

Choose the correct answer from the options given below

forgotferRaa Fercti @1 ufer A gd 6 sik caaf¥erd o3 :

A. orefiden

B. srorracit

C. doger

D. ¥l

il fou s1u fyeseul 3 21 & 3= goi ¢

[Question ID = 84][Question Description = S2_qSNz_PG_ANTH_Q84]

B, C, D [Option ID = 333]
C, B, A [Option ID = 334]
, C, A, B [Option ID = 335]
A, D, C [Option ID = 336]

A W N -

3]

Correct Answer :-
e A, B, C, D [Option ID = 333]

85) Arrange the following cultures chronologically from oldest to youngest:
A. Mousterian

B. Azilian

C. Magdelenian

D. Abbevillian

Choose the correct answer from the options given below

forgsiferRaa JFmieril @I Yol A o D B 3 cIafderd @3 :



A. aEIiRe

B. ufSifermer

C. ds3afortat

D. uedfaferror

offa fou s1u fRyepeul 3 21 & 3a= goi ¢

[Question ID = 85][Question Description = S2_qSNz_PG_ANTH_Q85]

. A, B, C, D [Option ID = 337]
. D, C, B, A [Option ID = 338]
. D, A, C, B [Option ID = 339]
. A, D, B, C [Option ID = 340]

A WN =

Correct Answer :-
e A, B, C, D [Option ID = 337]

86) Given below are two statements:
Statement [: Age estimation based on dental eruption is useful in individuals up to approximately 15 years of age.
Statement ll: The third molar erupts after this time, but the age eruption of the third molar is highly variable.

In light of the above statements, choose the most appropriate answer from the options given below

il ol @l fdu sre 3 ¢

Dol - | : God YFEeel @ 3MER UR 3 DI 3pclol Afepil 3 el 15 ad &I 31y do Iu=iiell siar &

@l - || : e adur goa s Aaa & v yrefed didar 3 fvod din adul $a @ ywpest &I sy sicaféro uf¥acd Sidl @
SWRITP Pall D 3MIclid #, ofld f3u s1u fRypedl 3 A AR IuYh IaR DI Tol HIIU ©

[Question ID = 86][Question Description = S2_qSNz_PG_ANTH_Q86]

1. Both statement | and statement Ll are correct/@sermr | siiz |l Sraif 2t & [Option ID = 341]

2. Both statement | and statement l are incorrect/eret | 3 |l Siall srera@ & [Option ID = 342]

3. Statement L is correct but statement Ll is incorrect/@erwr | 3@t 8 , fbog @eret |l sieia & [Option ID = 343]
4. Statement l is incorrect but statement Ll is correct/@ermer | stera 8 , o @eret |l 3ét 2 [Option ID = 344]

Correct Answer :-
e Both statement | and statement Il are correct/aemwr | 3iiz | gleil 3dt & [Option ID = 341]

87) Given below are two statements:
Statement |: Repetitive DNA sequences are the nucleotide sequences that are repeated many times in the human genome.
Statement ll: Repetitive DNA sequences have no direct role in coding.

In light of the above statements, choose the most appropriate answer from the options given below

oflar of @erot feu a1e 3 ¢

@l - | : gorigfte S1uoiu sigad Ifreicss & d adt & folordl Jlora Sield 3 9gd arR geRigf Xl 3
@l - || : yoriafie 3t va v g & wifSer (ac foreifvr) 3 oI gyeagr yfdior ot ket 3

SWRID DUl D 3MIelid 3, ikl [Gu are fdmedl 3 A AR IUYTD IR DI WRIel DIfSTe
[Question ID = 87][Question Description = S2_qSNz_PG_ANTH_Q87]

1. Both statement | and statement Il are correct/@emw | aiiz |1 Sleit 31dt & [Option ID = 345]

2. Both statement | and statement Il are incorrect/eret | 3z || Sloil srera & [Option ID = 346]

3. Statement L is correct but statement l is incorrect/aperet | 3 @ , fog et |l swera & [Option ID = 347]
4. Statement l is incorrect but statement Ul is correct/@em | s @ , fpoq e |l 3 8 [Option ID = 348]

Correct Answer :-
e Both statement | and statement l are correct/aermer | 3iiz |l Glell 26t 8 [Option ID = 345]

88) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: One result of globalization is the expansion and intensification of structural violence caused by impersonal,
exploitative, and unjust social, political, and economic systems.

Reason R: Reactions against the structural violence of globalization may take the form of resurgent ethnonationalism or
religious fundamentalist movements.

In light of the above statements, choose the most appropriate answer from the options given below

oflax <Y werol Ru s1e 3@ b sifdrperet (A) @ wu 3 feilaa 2 aY gaer 33 orut (R) & »u ¥ :



sifdrpera (A) : dediapul oI U Ul I & [ daftod, INUUIDRI del GIRIYUL AP, Ashciiiad iz sniie dql grRI JAsercad &
oI foranrR 3iiz 3ud Yena 3 af; 58 3

@Rl (R) : dedimur &l ercas & @ g gfeafigand {2 21 sArcasiia @ Ascars rear enfifa dgeard AfRIer oI Fasu o Adddl 3
SWRID DUl D 3Iclid 3, ikl [Gu are fdmedl 3 A AR VYD IR DI TRIel DI :
[Question ID = 88][Question Description = S2_qSNz_PG_ANTH_Q88]

1. Both A and R are true and R is the correct explanation of A/ (A) 3iiz (R) gieil 3@t 2 3z (R), (A) &t 3dt =aeen & [Option ID = 349]
2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 2@t 8 weeg (R), (A) 6l 3t =imen otef & [Option ID = 350]
3. Ais true but R is false/(A) a1 & uw3og (R) sri=x & [Option ID = 351]
4. Ais false but R is true/(A) sric1 8 wog (R) 3=x & [Option ID = 352]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) cleil 3t & iz (R), (A) &t 3t =m=n & [Option ID = 349]

89) Given below are two statements:

Statement I: Sanskritisation was found to be a widespread cultural and social process among Hindus in different parts of
India.

Statement II: It is also reported that Sanskritisation to be occurring among some tribal groups such as Bhils and Oraons.

In light of the above statements, choose the correct answer from the options given below

il &1 werer e ame 3 :

D - | : sivpac vRd 3 faf¥ea siell 3 Rogsil 3 v wue Aeiie aun Ao g Hbt 3
Dol - || : T SiersIdRI Al ae siicl qer Adl A 9l sizgpamer @ URI Sifel &I SieioRI e 8
SWRID DUl D 3MIclid 3, ikl [Gu are fdmedl 3 A AR IUYTD IR DI TRIel DI :

[Question ID = 89][Question Description = S2_qSNz_PG_ANTH_Q89]
1. Both statement | and statement l are true/erer | 3z |1 Sloll 31t &

[Option ID = 353]
2. Both statement | and statement [l are false/@ermer | iz || Gloll sicta &

[Option ID = 354]
3. Statement lis true but statement [l is false/@ewr | 311 @ , fboq deet |l 3R 8

[Option ID = 355]
4. Statement L is false but statement l is true/@emt | sricr & , fbog @erer | 3w &

[Option ID = 356]

Correct Answer :-
e Both statement | and statement ll are true/a@eror | iz 1l Soil 318 &

[Option ID = 353]

90) Given below are two statements:
Statement [: 11microlithic sites were discovered from Tinnevelly on the banks of the Tambrapani river.
Statement ll: Tools from Tinnevelly were made on quartz, silicified wood, and chert

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 perer Ru sme 3 :

@l - | 1 11 Jgaurdnr Jaflel Ferell &I s arqurell i€t @ pelr Rooldeedl 3 &I a1 oft
ool - |l : Roatdeed A grA SR 3wRk®, Riferdblaa awst ik aé I TR fpu st
JWRITD Beell D AIellDd 3, ofid fBu s1u fresedl d A AT SUWRITH IR BT WRI6l HIfse
[Question ID = 90][Question Description = S2_qSNz_PG_ANTH_Q90]

Both statement | and statement ll are correct/@emr | aiz |l Gloil 28t & [Option ID = 357]

Both statement | and statement l are incorrect/aperet | siiz || Siail swere & [Option ID = 358]

Statement L is correct but statement ll is incorrect/@emr | 316t 8, fpoq @l |l sera & [Option ID = 359]
Statement  is incorrect but statement [l is correct/aerwt | sicia 8 , fipoqg @eret |1 3t & [Option ID = 360]

A W N -

Correct Answer :-
e Both statement | and statement Ll are correct/aerwr | aiiz |l Sioif 2@t 8 [Option ID = 357]



Topic:- Anthropology_SHAAN_NOV21B

1) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture. Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.

Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty” genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

sifa feu a1u sreErior @l ufée siik fewotferlRaa gesll @ 3= i :

gd 3 IR Senf¥=i 2 srgenfara il 3 smeyfores b $2a-3% Jar &bt FdeRiar & AT aasd I - &2 3 Bl 3 3R Sfiaer - yeamom 3
gfe 3¢ Oft Suafeerit wmue wu A STa B Brcll, =i seEns Fasu & SR, 51 5 dae, s, diar saz, Rifbfert (Sudefl) asn
aufée, U= foRIqUI Urel @ AT - AT Sl PI EPIDWI b1 SR et Breiap: Aayaads diaiil 21 Slol arcil e 3 il dl 31 3, URod 36
Fare ddaeh Jaz=ng oft 96 o

cfafl goria giq @ AN U= RIMUD 3HoJRieIel YT I DI f[br sRIT 3 Sil IRURPIA dU A @6 - el 3R dlell A Y Be - Bl R ol
DI & AAIBGA SAMUD 1Y A 91831 gl D 3117 3T, HSIGH D fe1e DRI v SiiR 3ol fe1e 3681 @ wrercrell ol Fdiecril 9s dI PIbl srcu
e 3 8l fafdioot iRy ast @ oliell 3 3<a ¥oparu, s 3iiR Alerar SiAl dlenf¥il 9 @bl gy g

I BB MG - gd frert & sia:fepan smeyforcblanvr & amer g8, RRRY 301 Alerar 3cucel g3M7? ST offel of W3RN {5 A cafep frordd
Ag13 AcHifersa dlsic 3 3 Sl DelldlSI BT HSRUI A IADI 3 B2 AP 3, ol Iasiifdar bl Fvuraetr &l 3 3k d 9R - 9R 310l dIcl 3[PIel

31edI YRIol ¥IEl $iSRUI dlcl dIdIaRvll 3 Yolseurcel a2 oid 3 IctiaR , Wl ufdfFeferil 3f A "Ryudl” Sficet arcl cafepal &l sisieall sifere deht
SId Q21 cAfepl @I of dl i RIRIPI Dol Bl of Al AMagADBAI Xl & 3R of 3l Jos 32D Delldl arel siistol I SJEUT FAADAI Bkl 3, T VAT
uf¥zea Sit zramisn 3 ALgE B gy B Feroreu s Tar 3

What is the effect of acceptance of modern medical care?

snggfore fRifdpear S 3% Jar &I Fdlapfer @I yera a=m 3 ?

[Question ID = 91][Question Description = S2_qSNz_PG_ANTH_Q91]
1. Reduced infant mortality /R ofasia #] -62

[Option ID = 361]

2. Increased infant mortality/aftfa s/sie g - &2
[Option ID = 362]

3. Decline in life expctancy/sftaer geemon 3f woft

[Option ID = 363]
4. It has no effect/sr @IS yoma oidt 2

[Option ID = 364]

Correct Answer :-
® Reduced infant mortality/ g sasia g -a2
[Option ID = 361]

2) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture. Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.



Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty” genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

sifa feu a1u sreErior @l ufée siik fewoiferlRaa gesll @ 3 i :

gd 3 R1d ety A sgsnfaa deil 3 snegfore Rifdoran 333 Aar i FdiorRiar & Arer oasiia g - ¢ 3 ot 3 3l Sfiaot - geamem 3
gfe 3¢ Oft suafeerit wmue wu A JFa B Brcll, =i seEns Fasu 6 SR, 51 5 dae, s, diar saz, Rifbfert (Sudefl) asn
aufée, U= foRIquI Urel @ AT - AT Sl PI EPIDWI BT SR el RBIeiap: A diniil 2 Slol arcil ey 3 il dl 3 3, URod 36
Farre Adell AT off a6 o T

cféofl goria giq @ AN U= RMMUD 3HoIRieiel YT I DA f[bwr sk 3 Sl URURPIA »U A @6 - el 3R dlell A Y Be - Bl R ok
DI & AAIBGA SAUD 14 A 91831 gl D 3117 3T, HSIGH D fe1e ®RI fpar SiiR 3ol fe1e 3681 @ wrersrell ol el 9s dI bl srcu
I 3 8l fafdioot iRy ast @ oliell 3 3<a Ieparu, A 3iiR Alerar SiAl dienfeil 3 @bl gy a8

I BB MG - gd et & sia:fepn smeyforcblanvr & amer g8, RRRY 301 Alerar 3cuoel g3M7? ST offel of WIEIRN o5 A cafep frordd
Ag13 Acrifersa dlsic 3 3R Sl DelldlsI BT HSRUI A IADI 3 B2 AP 3, ol Iasiifdar bl Fvuraer &l 3 3l d 9R - 4R 316l dIcl 3[PIel

312l YRIol ¥IEl $iSRUI dlcl dIdIaRvll 3 YolscUrcel a2 oid 3 IctiaR 3, Wl ufdfFeferil 3f A "fRyudl” Sficet aral cafepl &l sisieall sifere deft
SId Q31 cAfepl @I of dl i RIRIPI Dol Bl of Al AMaIADBAI Xl 3 3R of 3l Jos 32D Delldl arel siistol I SIEUT FAADAI Bkl 3, T VAT
uf¥zea Sit zremisn 3 ALgE B gy D Ferorsy s Sar g

Which among the following was not an epidemic disease?

forgsiferRae 31 3 Blol wed HBEI o181 off ?

[Question ID = 92][Question Description = S2_qSNz_PG_ANTH_Q92]
1. Small pox/da®s
[Option ID = 365]
2. Yellow fever/dien saz
[Option ID = 366]
3. Cholera/3sm

[Option ID = 367]
4. Hypertension/3ca J@mam

[Option ID = 368]

Correct Answer :-
o Small pox/das
[Option ID = 365]

3) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture. Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.

Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty” genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

ofiad féu arg srerior ol ufeu siiz foeifel¥aa gesll & Iz s :

gd 3 R SenfeRil A srgpnfea il 3 sneyfore Rifeseen Swa-3 Aar &l Fdioriar & AT dasia I - <2 3 @l 3 sii? Sfiaet - gemmonm 3
gfg 3¢ Oft Suafeerit cmuem wu A 3ol B Brcll, =i seEns Fasu 6 iR, SR 5 dae, s, diar saz, Rifbfert (Sudefl) aen
aufde, Uz foRIGUI urel @ AT1er - AT gl BT b1l b SR aet fienas: JAgpie dnf¥l 3 dot arclt e 3 @l at s 3, uRoq 36
Farzed Faeh =g off 96 o1 T



sférofl goria &iq @ AHI3GA U= RMUD 3rofRielTel YR @l D v sRI 3 Sl URURIPIA 34U A ©3 - el 3R Ulell A Y bl - Bel IR fonk
DA & AAIBGA RTUD FU A 91831 8l D 3R 3, ASIGH D fere PRI o= 3iiR 3ol fere 3681 & wremsrell ol FTRerRl 9 dI bl sicu
IR A I fafdieol 3Ry 9ol @ cliell 3 I Fepard, ALYIS 3iiR Alerar SiHl dientei 3 orbl giy 58

TR OB AMGIATID - gd faeRart &t sia:fipan smegforcbia=ur @ 1er 5%, RSRRI 36131 AlCIUI IcUoal 317 SIRA oiicl of ISR b I Al towat
AL AcHifersH Ao 8 3iiR Sl DARIST DI $HSRUT HIE IADI I D2 AP &, Iolbl IaRSHIAr bl FHHIdelr el & AR d IR - 9 3ol dlcl DIl

312l YRTol el $iSRUI dlcl aIdIaRull 3 YolscdIcel 2 oid 8 IctiaR 3, Wil uffFeferil 3f A "fRyudl” Sficet arcl sufepal & sisiesl sif2re sl
SId Q31 cAfRBRII DI of dl 3MfI RIRIPI B0l Bl of Al AMAIADBAI BIcil 3 32 of &l Jos 3Iferd DIt arct $iisiol I SJEUT FMAYABGAI Bkl 3, TD VAT
uf¥zga it wasn 3 AL 6t gy D Aoy s Sar 3

Traditionally Samoans were dependent for food on:

WRURBIA 34U A Adisied Mislel @ fere fosar uz sufdfa & ?

[Question ID = 93][Question Description = S2_qSNz_PG_ANTH_Q93]
1. Vegetables/ssft
[Option ID = 369]
2. Root and tree crop horticulture/@g - et 3iiz diell 3 g wet - Gt
[Option ID = 370]
3. Rice/amaer

[Option ID = 371]
4. Wheat/3&

[Option ID = 372]

Correct Answer :-
e Vegetables/3esft
[Option ID = 369]

4) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture. Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.

Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with “thrifty" genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

sifd fu sru srerior ol uféu siiz forafaiRaa gesll & = difste

gd 3 JRIlR dienf=Il A srgsufad el 3 sngfore Rifcpear $¥-3 Aar &I IdIPRIAr o AT oIasld o - &2 3 el 313 3iIR Siidel - Yemom 3
gfs 35 Oft Suafeerit saruds U A Sae @i firch, iifes IR Fasu & daf¥=l, S 6 Jaw, e, tiar saz, Rifbfert (Sudeft) aen
aufd®, uR ORI urel @ ATeI - AT gedl BT AbIpvl b srn et fienas: AgpEie denf¥il 3 dior arcll 3y 3 @il ar s 3, uRoq 3o
Fared Hdeh IR off a6 o 3

cférofl goria &g @ AHI36A U2 RIMUD 3rofRiesl Yfp ol dfa s sri 3 Sil URURIIA U A @3 - el 3R Ulell A Yre Bl - Bl IR ok
DI 3 AAIBIGA RMUD WU A 91831 il & 31R 311w, IsIg] D fere BRI fop=n iR sruol fere 38 @ wrerusrell &I W ileerl 9Rs b1 @bl sreu
3 3 8t fafdroet 31y aef @ clloll 3 3o Feparu, AgdHs 3iiR dlerar SiHdl dlenfe=il 3 @bl gy gF

TR PO 3MIAfdD - gd Rert & sia:fepn smeyforcbianvr o rer g8, SRRI 301 Alear 3cuoel 33?7 SIRA oflel of JISIRI fob I cafep frordd
g AcHifersa HiSig 3 3R Sl Delldlsl BT HSRUI HIE IADI A D2 ADd 3, oIl Iasifddr ol Fvrdel &<l 3 3R d IR - dR 3ol drcl 3rPIeT

31erd1 GRIol ¥MEl HSRUI dicl dIdraRull 3 olBcUrcol a2 cid 8 IcliaR d, WAl ufel¥erierl 3 3 "fuel” Sfica1 arct caftpal &I disigatl sifitre sl
S ¥ cAfepeil Dl of Al 3ifed RIRIEH ot bl of dl sraeAddr aXdl 3 3l of &l 3o 3iferd Beist arct sistel &t 3EUT Ta9Admdr BXdl 3, v VAT
uf¥zga it waisn 3 #eLE 6t gy D Aoy fSwars Tar 3

‘"Thrifty' gene is associated with:



[Question ID = 94][Question Description = S2_qSNz_PG_ANTH_Q94]
1. Diabetes/ads
[Option ID = 373]
2. Cancer/@x
[Option ID = 374]
3. Infectious disease/iqmm®m st

[Option ID = 375]
4. AIDS/wsa

[Option ID = 376]

Correct Answer :-
o Diabetes/angis
[Option ID = 373]

5) Read the passage below and answer the question that follow:

With the acceptance of modern medical care among populations previously unexposed to European illness, infant mortality
declined and life expectancies went up. These achievements largely came about because of the control of epidemic
diseases, such as smallpox, cholera, yellow fever, syphilis, and tuberculosis as well as the inoculation of children. overall
deaths from infectious diseases may have declined, but other health problems have increased.

A good deal of research has focused on the Samon of the South Pacific who traditionally depend on root and tree crop
horticulture. Samoans increasingly moved to urban areas, worked for wages, and started buying most of their food. There
was substantial increase, in a short time, in rates of hypertension, diabetes, and obesity accross a range of age groups.

Could some genetic predisposition be interacting with mordenization to create obesity among them? James Neel suggested
that individuals wh have efficient metabolisms and who can store calories in fatty tissue are likely to survive and reproduce
in environement with frequent femines and chronic food shortages. In time, poulations in such environements would have a
high prevalence of individuals with "thrifty” genes. When such individuals no longer need to exercise much or have access
to high calorie food, it could lead to adult-onset diabetes, a scenerio consistent with the increase in diabetes in samoa.

ofia f3u a1u sreror o ufeu sii forroifcilRaa el @& sar v :

gd 3 Rk SenfeRil A srgpenfera il 3 sneyfore Rifebeen Swa-3 Aar &l Fdioriar & A1 dasia I - <2 3 @l 3 3iiR Sfiget - yemmonm 3
giy 8¢ Ol Suafeeril wmuem wu A Sxal @ frcfl, wiifp e Fasa H iR, SRl [ dae, 3, diar saz, Rifbfert (Sudefl) asn
i, uR HORIGUI Urel & ATl - AT Tt DT ApInvl b srI @ Biciio: Jiaere di¥il A ot arcll gog i ol ai s 3, uoq 3ea
Fare Hdeh s off 96 o 3

sférofl goria &iq @ AHI3GA U= RMUD 3rofRielTel YR ®l D v sRI 3 Sl URURPIA 34U A ©3 - el 3R Ulell A Yrd bl - Bel IR fonk
DA & AAIBGA ATUD 1Y A 91831 8l D 3R 3T, FSIGH D fere PRI v SiiR 3ol fe1e 3681 & wresrell ol FTReerRl 9 dI bl srcu
IR A 3l fafdieol 3Ry 9ol @ cliell 3 I Fpad, ALYIS 3iIR Alerar SiHl dientel 3 orbl giy 58

TR OB AMGIATID - gd faeRart &t sia:fipan smegforcbia=ur @ 1er 5%, RSRRI 613l AlCIUI IcUoal 3117 SIRA oiicl of ISR b I Al fforat
A AcHifersa Alslg 8 3iiR Sl DAARIST DI $HSRUT HIE IADI I D2 AP &, Iolbl JaRSHidar bl FsIdelr Wil 3 AR d IR - 9 3ol dlcl DIl
312l YRIol el $iSRUI dlcl daIdIaRvll 3 YolscuIcel 2 oid 8 IctiaR 3, Wil uffFeferil 3f A "fRyud"” Sfice arcl sufepl & slsiesl sifere sl
SId Q3 cAfpRIl DY of dl 3MfI RIRIP B0t Bl of Al MAIADBAT Bleil 3 3R of & Joa 3Iferd DIt arct siistol I SJEUT TAABGAI Bkl 3, T VAT
uf¥zga it wasn 3 AL 6t gy D Aoy s Sar 3

When Samoans increasingly moved to urban areas what kind of diseases showed substantive increase among them?

SId A3 SAGIAR 1B i) bl 313 Sirel cId) Al Joldl SMfUDINd: Blol - Hl ot & cgivr iz usa & -

[Question ID = 95][Question Description = S2_qSNz_PG_ANTH_Q95]
1. Cholera, syphilis, and smallpox/&si, 3udeft siiz dam

[Option ID = 377]
2. AIDS and Tuberculosis/us siz aufess

[Option ID = 378]
3. Hypertension, diabetes, and obesity/3casam, #iEpis siie dlerar

[Option ID = 379]



4. Yellow fever and cancer/dicn saz 3z DR

[Option ID = 380]

Correct Answer :-
e Cholera, syphilis, and smallpox/3st, 3uceft 3z dad
[Option ID = 377]

Topic:- Anthropology_SHAAN_NOV21C

1) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?

Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic violence has become a global social problem.

forgoiferRaa sterior ol ufeu der ofir iU s1e yesil & Ia= i :

1 yedta e 3 b et e 3 gfs &1 36 & 591 yoor @ Had grr: gduretin aen sraesirdl HArel Sl 3 aRIifes ¥ e fern Sirar 8 A o)
IR A IUSH YUIT @5 DRI BId & URod, AR A I 37

ARSI ferstrell @1 Iof Referil @ 31 dier 3 P1bl ool A & Reid 3MER UR ofsiiedlRI Hadl oI ydiodiel s Si1 Arddr 3 afcd d Sield 3 fo
opsirciz Aad siforaria: grediol srerar sraeamrdl offl 8l & 3e1s2v1 @ ferw, Srot gpfrsiforil of adf 1980 @ gorm 3 yd gonzenfa=n i §iq ®rRI
fepar 3 131001 ofIIfel g DIBI HIRI A Td AT [do1l fepdl Yrasl DiSols B 36 38 & Iold &l AANTI DI ABTA Sol DI JTARADAT §gel 8l DA UST
2 uzoq ad 1991 31 - 311 &lioll of JhFenierRr & gorRiel A d cloll & adva @ g RIDRIA Bl 9Rs B2 AT der IR & et lot
&Y oft a1t Blol el QRIS Asgarg & A Yase ol ¢I5l FeUTell @ o) ol 3T SIlol o¥1 GRIT $iST JSIRI SR a2l RIORITE clisll A 6l SR
Tp d A4l (A - RIIRIE 3rerar I - ARRIE) SR dictl Sifel arcl HIYT of dicip? R RIfOrE smwr dici di¥orie Adl, JIcam6l aan
RIORIRRIT @ diT 31 915 IST Ao AYep A, AT D 3aLIU D Uil 3l iixer ornfer renfia gs

SFSIICiI AT oI el dgen YmdIdict icicioll A 381 & Alfol SgE SIARI cdAd @ §IC &l YADdAIdIs Uoludl & fara 3 gerq 3l FaRew
3MYARIel @ DRYI 3f6Id $9I §8 fSIIKRI 3rqdl dg - ARDICID 8l 3R & ofSIIdl (33T DI N6 U dffad ARSI HARAT ol SRIl 8

What is the popular opinion about the reason behind ethnic conflicts?

foratferRaa 3 A Plol AT FSIIciRI TP @ PRUI D IR # AP AA 3 ?

[Question ID = 96][Question Description = S2_qSNz_PG_ANTH_Q96]
1. Linguistic diffrences/smur$ fdroorar

[Option ID = 381]
2. Ancient hatreds/c@a @RI 3 3ustt gum

[Option ID = 382]
3. Political domination/mcmwfifcres adsa

[Option ID = 383]
4. Forced immigrations/setd_ snyarict

[Option ID = 384]

Correct Answer :-

e Linguistic diffrences/smurg fdicorar
[Option ID = 381]

2) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?



Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic violence has become a global social problem.

forgotferRaa sterior ool ufgu der ofidr fGu s1e yesll & Ia= SIS :

a1 yedla alar 2 15 gperrddi=r e 3 gfig a1 38 & 531 yor @ Aad yri: gdaeiRn aen sraeindl At Sirdr & ariifes Y1 st feri Sirar 3 A e
I A U gl @ PRI 3 & Ued, aRIl A A 37

ATHISID fersirell T Iof Referil @ 531 dier 3 PIbl ool A & RBIeld LR UR SfSIIelRI el oI Ydiodiol o1l SiT AAddr 3 dicd d Siield & b
oireiter Fieref aifdrarfa: grfior srerar sraeemirdt oiét A ¥ Iersvr @ Rre, Bior gfrsuforit 3 adf 1980 o gors 3t gd oitenfe ¥ &1 drRF
fepen 3 f31ool oroIIfer 23E BBl FRI A T AT o1 el Yraer fders @ 36 B & Iold> dia AANCT DI Aewd Sol DI MAADPAT dgd 8l DA USt
2 uzoq ad 1991 31 - 311 &lIoll of JNFenieRr & gorRiel A 7d ¢kl & adva @ 5 RIDRIA Bl 9Rs &2 a1 der IR & eI lot
& off arT 3ol cPll RIRIE Asgarg & ADA Yabe ol ¢I5] FeUTell @ o) oIF 13U Silol o¥] GRIT $iST SR SR a2l RIS clisll A Bal SR
T d Al (A - RIHIRIE 3rerar I - ARRE) GRI dictl Sitel arcl HIYT of dicin? R RIfOrE smur dici dif¥ore Adl, JIcEm6l aar
RIORIRRIT @ diT BA1 H5D IST A AYeh AT, A D 3L D TN 3l 3riFer ornfer renfia gs

SFSIIciRRI 331 T JAder 9gen germdrardt iicicloll 3 361 8 ATl S8l fSIIciRI TarId @ §IG 3l gemdrdls Ueludl 3 faea 3 ger 3iik FdRke®
3MYARIel @ DRYI 3f6Id $9I §8 ofSIIKIRI 3rqdl §g - ARDICID 8l 3R & ofSIIdl 331 DI HHIdel U dffad APISIDG HAARAT ol SRIl 8

Croat nationalism appeared due to

DIfIRIE recarG b BRI IR B2 AR ?

[Question ID = 97][Question Description = S2_qSNz_PG_ANTH_Q97]
1. Mixed marriage/fig] faars
[Option ID = 385]
2. Linguistic chauvinism/emurs sier Sorsifen
[Option ID = 386]
3. Violence by Hungarians/&r3 & sieif3at grr B

[Option ID = 387]
4. Serb domination in the Yugoslav government/gsieiia yomiel 4 Al @I adza

[Option ID = 388]

Correct Answer :-
e Mixed marriage/fig] fars
[Option ID = 385]

3) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?

Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic violence has become a global social problem.

forsotferR3ad sterior @ ufee aen ofld 3w 51 gesil & Iaz AR :



a1 yedta 3t 3 b et e 3 gfs &1 36 & 591 YR @ Had grr1: gdaretin aon sraesirdl el Sl 3 a=Iifds V11 95T form Sirar 8 A oy
IR A IUSH YUl @ PRI BId & URod, A= A I 37

ARSI fersirell @I Jol Feaferil @ 31 dier A orbl ool #a & Rreld e U opsiidRi el @I ydielsre o s Addr 8 afem d sierd 8 fio
opsirciz Aad siforaria: grediol srerar sraeamrdl offl 8l & 3e1s2u1 @ ferw, fSro1 gyfersforil of adf 1980 @ gorm 3 yd genzeniarn i §iq ®rRI
fepar 3 131001 oJSIIfel g DIBI HAIRI A TDb AT [Jo11 fepAl Yrasl Didols B 36 36 & Iold &l AANTI DI ASTd Sol DI IMARADAI §ge 8l DA UST
2 uzoq ad 1991 31 - 31 clioll of JNFenieRr & yorRiel A 7d cloll & adva @ g IoRIa B 9% a2 a1 aer QISR & srePT dlot
&1 oft a1 Blol el QRIS IUsgarg & ADBA Yase alol ¢I9l FeTell @ o) ol 13U SIlol o191 GRIT SiST JSIRI SR a2l DIORIE clisll A sl SR
wp d A4l (A - RIIRIE srerar I - ARRIE) GRI dictl Sifel arcl HIYT of dicip? R RIfdrE srwr dicd Ai¥orie Adl, JIcHm6l aan
IR & dia B wse 381 an I s, AT D FTAsU D gId 8 sif¥er gnfer renftra F

SFSIIRI AT oI Jder Ggen YpdIdict icicioll A 381 3 ATfel Sge JSIRI cdAd @ §IC &l YADdIaIs Uoludl 3 fara 3 geliq 3l FaRe®
MYARIel @ DRYI 3f6Id $9I §8 fSIIKRI 3rqdl Jg - ARDITD 8l 3R & ofSIIdl 331 DI el v dftad ARSI FdARAT ol SRIl 3

Escalated ethnic violence among the Bosnian Serbs, Muslims, and Croats was contained by whose intervention?

RorRE Adl, FacrEiel don RIPRIERI & dia susdl 2 e svadu & srur frifga 3 ars ?

[Question ID = 98][Question Description = S2_qSNz_PG_ANTH_Q98]
1. United States of America/3R[D I @RI

[Option ID = 389]

2. United European Delegation/ iy RIdkRI forcaiser
[Option ID = 390]

3. United Nations/3gp g 3ie

[Option ID = 391]
4. United Yugoslavia/udbiaa Jenetfcr

[Option ID = 392]

Correct Answer :-
e United States of America/3iym I 3@FDdT
[Option ID = 389]

4) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?

Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic violence has become a global social problem.

forgatfeiRaa srerior oI ufgw aen ofi f3u s1e yestl & 3ar v :

1 ycdia e 3 & gpetredi= e 3 gfy 3 36 3 53 yor & Fad grr: gdareiRn s sraeAsirdl dArel SIrar 3 a=iifds ¥ st fer sirar 3 A aed
AT A Ul U B BRI B 3 URed ORI A A 37

Ao sl @1 Io1 Rreferil & 51 dler 3 erbl ool A 3 Reid MR WR gfsirdlR Jadl o1 gaioairel s st rdmdr 3 afee a sield 3 e
opsircita JAad siforaria: gredior srerar sragasirdl o1&l i & 3c1sv1 @ ferg, f3rel gifersiforal of aef 1980 o> gores 3 yd Jeliwenfar=m 3 gl BRI
fepam 3 f9reot ofsiifer 31gg @b JIRT A ud A1 6l fepdt yragt i @ 36 8 T Iodd dia AN @I Ased Sol DI smavAdr dgd 8l oa ust
3 Wog ad 1991 amd - 31d il of YRR @ YIRIe! 3 Ad ikl @ axid @ g [O1PRIA @il 9s @2 G den IR @5 31e13T dlol
&1 oft a1t Blol ol QIR Icgarg @ A Yase alol ¢Idl Fellell @ o1 ol 3T Silol o191 oRIT SIST SIRI SR A2l DIORIE clisll A Bal SR
uep d Adl (A - RIIRIE srerar I - AfRIE) GRI dichl Sirel arel HYT of dicid? Rie RIfdrs srar dicd Ai¥orie Adl, JIcEr6 qan
DRI & dia Far sse 38T asn JYTH A AT D FTALT D I 8l sif¥er gnifer renfera F

SFSIIRI A1 oI Jder Igen Yepdrdic icicioll A 61 3 Alfel Sl GJSIRI T D dIc &l Yadbdrars Uoludl 3 fara 3 gerq 3l 3aRe®
MYARIel & DRYI 3ol 91 §8 ofSIICiRI 3r2Idl §5 - ARDITD 31 3R & gfiid] 31 bl Fvraen v Aftas APNRIE Fe= ool SR 3



Secession associated with ethnic conflicts often occur

g SJSIIARI Thrdl A I3 CPIAdIG DA Slod oI 3 ?

[Question ID = 99][Question Description = S2_qSNz_PG_ANTH_Q99]
1. At the onset of the ethnic conflict/ oIkl e & 3mRe Slol A
[Option ID = 393]
2. After the eruption of the ethnic conflict/oiRr cara @ ss@ol & DRUI
[Option ID = 394]
3. When no one pays attention to the ethnic conflict/sma ot e e B eret oidt 3ar &

[Option ID = 395]
4. As a result of peace process/ grifer yfdpen @ ufvmrrazsu

[Option ID = 396]

Correct Answer :-
® At the onset of the ethnic conflict/ g em2ma & smear Slol 3
[Option ID = 393]

5) Read the passage below and answer the question that follow:

Ethnic conflicts appear to be on the rise. Such conflicts are often thought to be intractable and inevitable because they are
supposedly based on ancient hatreds. But is that true?

Social scientists are a long way from understanding the conditions that predict ethnic conflict, but they do know that ethnic
conflicts are not necessarily ancient or inevitable. For example, an anthropologist who did fieldwork in the former
Yugoslavia in the 1980s described villages where different ethnic groups have lived side by side for a long time without
apparent difficulty. The differences between them were hardly emphasized. But by 1991, people complained about Serb
domination of the Yugoslav government and there was talk of Croatia seceding symbols of Croat nationalism had appeared-
new place names a new flag-and Croates were now said to speak Croatian rather than the language they shared with the
Serbs(Serbs-Croatian or Croato-Serbian). Ethnic violence erupted among Bosnian Serbs, Muslims, and Croats, and only the
intervention of the United Nations established a precarious peace.

Ethnic conflict is frequently associated with secessionist movements. That is secession often occurs after the eruption of
ethnic conflict with all of the forced and voluntary immigration in the world, many countries are becoming more multiethnic
or multicultural. The possibility of ethnic violence has become a global social problem.

forgaifeiRaea srerior oI ufgu aer ofid f3u s1e yestl @& 3ar v -

a1 ycdia e 3 & gpetrdi= e 3 gfiy 3 ¥ 3 53 yor & Jad yrr: gty aen sraeAsirdl el SIdar 3 a=iifds 1T st ferm sirar 3 A aad
AT A Ul U &S BRI B T URed @RI A IJA 37

eI farsirell @1 Jo1 Rreferil & 51 dler 3 o1rbl Biool A 3 Retd 3R UR ofsirdlR el o1 galoire! s st rddr 3 afée q sield 3 e
opoireila dAad siforaria: grediior srerar sragsirdl o1&l 8l & 3c1sv1 @ ferg, el gifersnforil of aef 1980 o> goras 3 yd Jgelizenfrm 3 g BRI
fepar 8 firool ofsirfer Jgg Il I A b A1 ol fon2dl grast didons @ & @ & Sord diar AANCI DI AsTd Sol Dl srraeADdl Sgd &t wa ush
3 WRog ad 1991 amd - 30d clivll of YRR @ YIRIa! 3 Ad ikl @ ada @ g OrPRIA @il 9 @2 & den IfdrI @ 31ersT slot
&1 oft a1t Blal ol QIR Icgare & AT Yase ol ¢I9 Felloll @ o) ol 3T SIlol o191 oRIT SIST SIRI SR del DIORIE ciloll A Bal SR
ob d Adl (Ad - DRI s1gar @Il - ARRIE) GRI dicil Siel drel HIYI of dicia: BRI RIORIE T dici dierie i, JRIcHIel dan
DRI & dia Far wse 38T asn AYTH A AT D FTALT D I Sl sif¥er gnifer renfira ¥

SFSIIRI BT oI Jder dgen Yepdrdic! icicloll A 361 3 Alfel Sl GfSIARI T  dIc & Yadbdarars Uoludl 3 fara 3 genq 3iiz FaRkRed
MYARIGI @ PRI 3oId S9I 9§ ofSIIcRI 3reqdl §8 - ARDID 3l sRA 3 gpsirdl a1 &bl Fviraett v Affam ARNRIG AT 961 RA 3

Many countries in the world are becoming more multiethnic or multicultural due to

foreq 3 3101 S oI 98 - ofSIIeti™ 3rerar &g - ARDIID P PRUT S W & ?

[Question ID = 100][Question Description = S2_qSNz_PG_ANTH_Q100]
1. Policies of governments/3®R &t ofifer

[Option ID = 397]



2. Global dynamics/dfaewm sifercbt

[Option ID = 398]
3. Forced and voluntary immigration /et 3iiR Fdfeesd smyarior

[Option ID = 399]
4. International peace processes/sidarcer orifer gfegem

[Option ID = 400]

Correct Answer :-
® Policies of governments/3R®rR & offfer

[Option ID = 397]

Topic:- GP_29NOV_SH2_A

1)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc BA IMSc MA

A Q A Q A Q A Q
2016 3.4 (1.2 6.4 [2.3 2.8 1.3 |4.8 [2.4

Year

2017 (3.6 (1.8 6.6 2.5 2.4 |1.1 4.7 2.3

2018 4.2 2.1 7.2 2.8 2.2 |1.2 4.6 2.5

2019 4.8 2.3 6.8 2.6 2.5 |1.2 4.9 2.7

2020 (3.8 (1.9 [7.4 3.2 [2.6 |[1.3 5.2 |3.2

off &t o1 enferapt b1 Araesiiyde ug 3ii forefeiRaa gesil & 3= dfSe ©

&} or¢ enferept 3 uia fafdreot auf 3 fp=fl fRreafdencr & gaer udten 3 onfier siiz Sehivl sraffRil &t Fizem (1000 &) Qs & (A - uslenm &
onfdrer, Q - 3efivf)

Cilezezis di ez Leazeaiy eri 1
A Q A Q A Q A Q
2016/ 3.4 1.2 6.4 | 2.3 2.8 1.3 (4.8 | 2.4
2017 3.6 1.8 6.6 2.5 2.4 1.1 4.7 | 2.3
2018 4.2 2.1 7.2 2.8 2.2 1.2 4.6 | 2.5
2019 4.8 2.3 6.8 | 2.6 2.5 1.2 | 4.9 | 2.7
2020 3.8 1.9 7.4 | 3.2 2.6 1.3 [ 5.2 3.2

af

What is the average of the difference between total number of candidates who Appeared and the Qualified candidates for
the stream B.Sc. for 2016-2020?

ad 2016 - 2020 o e .o urgrga @ fere udten 3 seI clol arar ik udlen 3 Seiivf spafRil & e Fizn & T siRd 3idR o= 3 ?

[Question ID = 251][Question Description = S2_qSNz_PG_GP28_Q01]
1. 2100

[Option ID = 1001]
2. 2120

[Option ID = 1002]
3. 2135



[Option ID = 1003]
4. 2125

[Option ID = 1004]
Correct Answer :-
e 2100

[Option ID = 1001]

2)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc BA IMSc MA

A QA QR A QR A
2016 (3.4 (1.2 6.4 2.3 2.8 |1.3 4.8 2.4

'Year

2017 (3.6 (1.8 6.6 2.5 2.4 |1.1 4.7 2.3

2018 4.2 2.1 7.2 2.8 2.2 |1.2 4.6 2.5

2019 4.8 2.3 6.8 2.6 2.5 |1.2 4.9 (2.7

2020 3.8 1.9 7.4 3.2 2.6 [1.3 [5.2 |3.2

sifax &1 ar¢ anfert @1 Araersilyde ug siiv fowsifeiRaa il @ 3ar IS ©

&} or¢ enferapt 3 uia fafdreot auf 3 el fRreafdencr 6t gaer udten 3 onfier siiz 3<ivl srsaffRil &t Fizeam (1000 &) Qs & (A - udlenm i
onfdrer, Q - 3efivf)

Eileazpzig i THGMRA ez 1)
A Q A Q A Q A Q
2016/ 3.4 1.2 6.4 | 2.3 2.8 1.3 | 4.8 | 2.4
2017 3.6 1.8 6.6 2.5 2.4 1.1 4.7 | 2.3
2018 4.2 2.1 7.2 2.8 2.2 1.2 4.6 | 2.5
2019 4.8 2.3 6.8 | 2.6 2.5 1.2 [ 4.9 | 2.7
2020 3.8 1.9 7.4 | 3.2 2.6 1.3 | 5.2 | 3.2

af

For which year, the difference between non-Qualified candidates of B.Sc. and B.A. is minimum?

fopaa ad @ fere dlurdl. SiiR dlu. @ srofAivi srRAfRITl @ diar ot siar oot 37

[Question ID = 252][Question Description = S2_qSNz_PG_GP28_Q02]
1. 2016

[Option ID = 1005]
2. 2017

[Option ID = 1006]
3. 2018

[Option ID = 1007]
4. 2019

[Option ID = 1008]
Correct Answer :-
e 2016

[Option ID = 1005]



3)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc BA IMSc MA

A Q A Q A Q A Q
2016 3.4 (1.2 6.4 [2.3 2.8 [1.3 |4.8 [2.4

Year

2017 (3.6 (1.8 6.6 2.5 2.4 1.1 4.7 2.3

2018 4.2 2.1 7.2 2.8 (2.2 |1.2 4.6 |2.5

2019 4.8 2.3 6.8 [2.6 (2.5 |1.2 4.9 2.7

2020 (3.8 (1.9 [7.4 3.2 [2.6 |[1.3 5.2 |3.2

oIl €I a1$ enfer1 @I Arateligde ue 3iR foreiiciRaa gl @ 3= difsme :

St o1¢ enferopt 9 uia fafdreor auf I fip=il feafdemcrr & yaer udign & onfirer 3R 3divl srsaff=ii bt sizeam (1000 ) St s & (A - udiem &
onfdrer, Q - edivf)

dioarit diu ez Leazeziy er: 1
A Q A Q A Q A Q
2016, 3.4 1.2 6.4 | 2.3 2.8 1.3 | 4.8 | 2.4
2017| 3.6 1.8 6.6 | 2.5 2.4 1.1 | 4.7 | 2.3
2018 4.2 2.1 7.2 | 2.8 2.2 1.2 | 4.6 | 2.5
2019 4.8 2.3 6.8 2.6 2.5 1.2 4.9 | 2.7
2020 3.8 1.9 7.4 | 3.2 2.6 1.3 | 5.2 | 3.2

ad

Find out the difference between the average of Qualified candidates (2016-2020) of M.Sc. and the average of Qualified
candidates (2016-2020) of MA?

gAML @ siiera Sdivf sl (2016 - 2020) sl wae. @ siiaa Jedivf spsafefn (2016 - 2020) @ <k w1 siar fepdon 3 ?

[Question ID = 253][Question Description = S2_qSNz_PG_GP28_Q03]
1. 1350

[Option ID = 1009]
2. 1375

[Option ID = 1010]
3. 1400

[Option ID = 1011]
4. 1425

[Option ID = 1012]
Correct Answer :-
e 1350

[Option ID = 1009]

4)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).




BSc BA IMSc IMA
Year

2016 (3.4 (1.2 6.4 2.3 2.8 |1.3 4.8 2.4

2017 (3.6 (1.8 6.6 2.5 2.4 1.1 4.7 2.3

2018 4.2 2.1 7.2 2.8 2.2 |1.2 4.6 2.5

2019 4.8 2.3 6.8 |2.6 (2.5 1.2 4.9 2.7

2020 (3.8 (1.9 [7.4 3.2 [2.6 |[1.3 5.2 |3.2

SiiI €I 318 efer1 @I Arateliyde ue 3R foeliciRaa ygsil @ 3= i :

& o1¢ auferapt 3t uia fafdreor auf 3 fopeil frafdencrr b yaor usign & onfirer 3iiz 3divi srsaffi &f sz (1000 &) dr a1 3 (A - udiem &
onfdrer, Q - edivf)

Cilepzezig o ez Leazeziy ez 1
A Q A Q A Q A Q
2016 3.4 1.2 6.4 | 2.3 2.8 1.3 | 4.8 | 2.4
2017| 3.6 1.8 6.6 | 2.5 2.4 1.1 | 4.7 | 2.3
2018 4.2 2.1 7.2 | 2.8 2.2 1.2 | 4.6 | 2.5
2019 4.8 2.3 6.8 2.6 2.5 1.2 4.9 | 2.7
2020 3.8 1.9 7.4 | 3.2 2.6 1.3 | 5.2 | 3.2

ad

Find out the difference between the total number of students who qualified for graduate level examination (B.Sc + B.A.)
and post graduate level (Msc + MA) examination during 2016-2020.

ad 2016 - 2020 @ SiRrel Folid® ¥R &I udlen (dloril. + & v) iR JomaeiR ¥R (TawAdl+ vae) o fe Seiivl feenfRRil & o
I @ dia @1 3iaR fdbdor 87

[Question ID = 254][Question Description = S2_qSNz_PG_GP28_Q04]
1. 3400

[Option ID = 1013]
2. 3500

[Option ID = 1014]
3. 3600

[Option ID = 1015]
4. 3700

[Option ID = 1016]
Correct Answer :-
e 3400

[Option ID = 1013]

5)

Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc BA IMSc MA

AR A R A @ A @
2016 (3.4 1.2 6.4 (2.3 2.8 (1.3 4.8 [2.4

Year

2017 3.6 (1.8 6.6 2.5 2.4 1.1 4.7 2.3



2018 4.2 2.1 7.2 2.8 2.2 1.2 4.6 2.5

2019 4.8 2.3 6.8 2.6 2.5 [1.2 4.9 (2.7

2020 (3.8 (1.9 [7.4 3.2 [2.6 |[1.3 5.2 |3.2

oflax &t o1 anferest @1 Aaemoiiyds ug 3iiz foreifeiRaa yesil & 3az i :

St o1¢ enferapt 9t uia fafdreor auf 3 fopell fReafdemerr &t yaer udien 3 onfirer 3iiz 3ol srsaff=il <6t izeam (1000 o) St s & (A - udiem &
onfdrer, Q - 3edivf)

Cilezeziy diu ez Leazeziy er: 1
A Q A Q A Q A Q
2016 3.4 1.2 6.4 | 2.3 2.8 1.3 | 4.8 | 2.4
2017, 3.6 1.8 6.6 | 2.5 2.4 1.1 | 4.7 | 2.3
2018 4.2 2.1 7.2 2.8 2.2 1.2 4.6 | 2.5
2019 4.8 2.3 6.8 | 2.6 2.5 1.2 | 4.9 | 2.7
2020 3.8 1.9 7.4 | 3.2 2.6 1.3 [ 5.2 3.2

ot

Find out the difference between non-qualified candidates from the years 2018 and 2019 (for all categories)

adf 2018 3fiz 2019 (0ft YPORI o fore) o srefeiivl sl &bt dia o1 siar a=m 3 ?

[Question ID = 255][Question Description = S2_qSNz_PG_GP28_Q05]
1. 550
[Option ID = 1017]
2. 560
[Option ID = 1018]
3. 575

[Option ID = 1019]
4. 600

[Option ID = 1020]

Correct Answer :-
e 550
[Option ID = 1017]

Topic:- GP_29NOV_SH2_B

1) Which model is designed to provide students with a cognitive structure for comprehending material presented through
lectures, readings and other media?

forsatferRaa 3 A1 ®lot - 11 disa fenfRil B RFsIrol, usl 3iiR 361 APl D FRI YIdd ARR] DI W3IsTol D fo1e AsIelcd® el Yglol
Dol D feru ¥emsat fopan arm 3 ?

[Question ID = 256][Question Description = S2_qSNz_PG_GP28_Q06]
. Inductive thinking/smerroncers dra [Option ID = 1021]

. Mnemonics/3s® [Option ID = 1022]

. Scientific inquiry/dsufsre swun [Option ID = 1023]

. Advance organisers/usai sifsferssii [Option ID = 1024]

A W N -

Correct Answer :-
e Inductive thinking/smewioncr da [Option ID = 1021]

2) When a teacher presents the most general ideas of the discipline first, followed by a gradual increase in detail and
specificity, it is known as

Sl oI R1gr el forerr @ Jaifere A6 Rar! o grga el @ ac ¢l - ¢l frar siiz fifdrsearsii &I 3k sPRR 3l 3, da 31
@Bl S 3 -



[Question ID = 257][Question Description = S2_qSNz_PG_GP28_Q07]
1. Progressive differentiation/ysmft fagictessur [Option ID = 1025]

2. Inductive thinking/smeweiercsd 2ra [Option ID = 1026]

3. Cooperative learning/3s sif¢em [Option ID = 1027]

4. Jurisprudential inquiry/faféremsdfzr geat [Option ID = 1028]

Correct Answer :-
® Progressive differentiation/ypmft fagiciasur [Option ID = 1025]

3) Given below are two statements

Statement I: The advance organiser model is designed to strengthen students' cognitive structures - their knowledge of a
particular subject at any given time and how well organised, clear and stable that knowledge is.

Statement II: Cognitive structure has nothing to do with what kind of knowledge of a field is in our minds, how much of it is
there, and how well it is organised.

In light of the above statements, choose the most appropriate answer from the options given below

ofiY Q1 erot R a1 3 :

@l - | : usaid sifelolssz dfsc @1 fenfRil & Fstoicars Fzaoisii - bzt T PR bl T fawRr & 3ord> sireT 3iik a6 Sirel fobde
JoadfFerd, yuce iz TR 3 - DI PG dollol D fere f3simsel fovan srm

@erel - || : ASICIcIAD Aol DY A DS ol - Soll oIl & b AR ol I bl &l @1 5T YdR oI Sirel 3, fbdon siret 3 3ii? G Silol fbdon
Fgoaaf¥ed

SWRfed Uil @ sirciidd A, ofia feu a1g fameul 3 A A& IR DI TIel B

[Question ID = 258][Question Description = S2_qSNz_PG_GP28_Q08]

Both Statement | and Statement Il are correct/@emt | 3iiz Il gleil 28 & [Option ID = 1029]

Both Statement | and Statement Il are incorrect/aermer | 3iiz |l Glail steta & [Option ID = 1030]

Statement | is correct but Statement Il is incorrect/@emwt | 3@t 8, fpoq @l |l st & [Option ID = 1031]
Statement | is incorrect but Statement Il is correct/emwr | ster &, fpoq e |l 2@t @ [Option ID = 1032]

AW N -

Correct Answer :-
® Both Statement | and Statement Il are correct/wmemwr | 3iR 11 Glell 28 & [Option ID = 1029]

4) The theory of meaningful verbal learning deals with which of the following concerns?

A. How knowledge (curriculum content) is organised.

B. How the mind works to process new information (learning)

C. How teachers can apply ideas about curriculum and learning when they present new material to students (instruction)
D. How the students provide responses to critical questions (questions response)

E. How the institution has established a language lab (infrastructure)

Choose the correct answer from the options given below:

e onfée sif2erar @1 Rigia forefeRaa 3 2 fReer - Rpar ardl 3t dfia 3 ?

A. st (argzraaf 6t Rierazq) o HA *af¥era e siar @

B. o SiraIprl (31f2Pmer) B QRN B0l 3q fRHART A BRI B2ar

C. S fd1gres Rrenfiii ot off ARPY (319N WA 3, dd d urgrart iz sifferer o FHder i Rk o seyieT b yoRr o 3
D. fremeff Asrcicicad gesil (Yl - 3a2) @ Ia2 DA A &

E. Jivere of st YRIBIeNe i Fenuoll fop gR &l 3 (3raizao)

ofid o s1u fweal & A A8 IR BT WRI6l BT :

[Question ID = 259][Question Description = S2_qSNz_PG_GP28_Q09]

. A, B and C only/dact A, B 3iiz C [Option ID = 1033]
. A, Band D only/a>aet A, B siiz D [Option ID = 1034]
. A, B and E only/dact A, B 3iiz E [Option ID = 1035]
. C, D andE only/asaer C, D siiz E [Option ID = 1036]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 1033]

5) Match List | with List I

List | List Il
ICT Tool for Teaching Purpose
IA. Google Classroom I. Assesment of learning




B. Google Meet Il. Synchronous interaction
C. Google Quiz Ill. Acces to course content|
D. Google Jamboard IV. Colloborative tasks
Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

Rxeht -1 il

(forgtur @ feru sl o) (gRiISToT)

A. 3JBIcT TeiRReA |. siféere1 o1 FeRaiaol

B. spirct dic Il. seropIferd sia:fopn

C. aprel ferast lll. grgrapa & Rreriarq ae uga
D. spret Siardls IV. Jsaenca® BRI

oii<I f¢u aru famedl 3 A A8 IR Yot :
[Question ID = 260][Question Description = S2_qSNz_PG_GP28_Q10]

A-1ll,B-11,C-1,D- IV [Option ID = 1037]
A-11,B-1,C-1V, D - Il [Option ID = 1038]
A-1,B-1V,C-1ll, D - Il [Option ID = 1039]
A-1V,B-1ll, C-1lI,D- | [Option ID = 1040]

A WN -

Correct Answer :-
e A-IlIl,B-1IlI,C-1,D-IV[Option ID = 1037]

6) The term "File drawer problem” is related to

"BIsd 313k Yiecwa foroiferRaa 3 1 ey Adfea 3 :

[Question ID = 261][Question Description = S2_qSNz_PG_GP28_Q11]
1. Ethnography/gmuferenze [Option ID = 1041]

2. Experimentation/gzier [Option ID = 1042]

3. Meta analysis/sifarfecsuur (derwonfeiRra) [Option ID = 1043]

4. Case history/cafepga [Option ID = 1044]

Correct Answer :-
e Ethnography/gmmicome [Option ID = 1041]

7) Debriefing involves several activities following the collection of data :
A. Explanation of any deception

B. Explaining the superiority of the present research

C. Description of the purpose of the study

D. Post-study follow-up medical or psychological attention

E. Publication of the finding of the research in a journal

Choose the correct answer from the options given below:

Siiftser 3 3ridst D IHoYEuI B dIc BF g onfdrer 3 :
fopft frarur B s

31€RRIGT B YRIISIol BT aviel
31eTRIel B IURId 3iofadl Rifdbeefin ar Folidsufore arot
E. ofter @ forsasd @bt Sreler 3 gabroret
ofi fou a1 el 3 A 8t ST gt ¢
[Question ID = 262][Question Description = S2_qSNz_PG_GP28_Q12]

. A, Band C only/daer A, B, C [Option ID = 1045]
. A, Cand D only/@aet A, C, D [Option ID = 1046]
. B, Cand D only/daer B, C, D [Option ID = 1047]
. C,DandE only/asaer C, D, E [Option ID = 1048]

A.
B. acdurer oiier bt o)sodr &bt RN Dol
C.
D.

A wWw N -

Correct Answer :-
e A, Band Conly/adact A, B, C [Option ID = 1045]

8) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R



Assertion A: One of the important aims of research is the development of a theory.
Reason R: Both facts and theory are important for doing the research.

In light of the above statements, choose the most appropriate answer from the options given below

oIl QY perol iU a1w 3 1 uop sifdraserat (Assertion A) & wu 3 iR ¢RI 3AD BRUT (Reason R) & wu 3 :
sifiraserot (A) : oiter & arsrayvl agl 3 3 v Bigia o o oo 3

@Rt (R) : oner o1 @ fere ae 3iiz Rigia el Ievayyt

SWRIT DUl @ sl 3 foratifea faaeul 3 21 8 3= ol :

[Question ID = 263][Question Description = S2_qSNz_PG_GP28_Q13]

. Both A and R are correct and R is the correct explanation of A/(A) 3l (R) cloil 3t & 3l (R), (A) &I 38 =z 8 [Option ID = 1049]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 2 & uw3oq (R), (A) &t 3 =me=n o1&t 3 [Option ID = 1050]
. Ais correct but R is not correct/(A) 3@t 8 wsoqg (R) 3@t a8t & [Option ID = 1051]

. Ais not correct but R is correct/(A) 3t oidt 3 ussq (R) 3t & [Option ID = 1052]

A WN -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gl 3@t 8 3z (R), (A) @1 3dt caeen 3 [Option ID = 1049]

9) Given below are two statements
Statement I: Power of a statistical test refers to its ability to reject the null hypothesis when it is incorrect
Statement Il: The value of standard deviation of a sample indicates its homogeneity/ heterogeneity.

In light of the above statements, choose the correct answer from the options given below

il ol el feu sre 3 ¢

D - | : ARl udlgur &l oIfth 91 YramcUoll @ SIcId 3ol R 33 RAIPR Dol &I sl grarar 3
@l - || : fpft yfercoel & st fRrerctor w1 o1 32Adht FaioTar / faraatiorar oot gorfar &

SRS DAll B IIElIPD 3, ofil U 31u frapeul 3 A ABT IR DI TRIol DHIfTT :

[Question ID = 264][Question Description = S2_qSNz_PG_GP28_Q14]

1. Both Statement | and Statement Il are true/@emwt | siiz || Sleit 3w @ [Option ID = 1053]

2. Both Statement | and Statement Il are false/aerert | siiz |l Qleil sRicr & [Option ID = 1054]

3. Statement | is true but Statement Il is false/memwer | 31 8, fipog et |l sRir & [Option ID = 1055]
4. Statement | is false but Statement |l is true/ermel | sRIcI 8, fbog @eret || 3 & [Option ID = 1056]

Correct Answer :-
e Both Statement | and Statement Il are true/aermer | 3iiz |l Slell 31 & [Option ID = 1053]

10) Characterstics of good measurement are
A. Reliability

B. Accuracy

C. Objectivity

D. Validity

E. Practicability

Choose the correct answer from the options given below:

3 Aol bl fadraam 3 @

A. freasetiRiar

B. wflpar

C. axqgforsoar

D. derer

E. gatqrrar

il fou s1u frseul 3 A I IR BT w6l HIfSIE ©

[Question ID = 265][Question Description = S2_qSNz_PG_GP28_Q15]

. A, Band C only/a@aet A, B, C [Option ID = 1057]
. A, Cand D only/aaet A, C, D [Option ID = 1058]
. B, Cand D only/asae B, C, D [Option ID = 1059]
. A, D and E only/daaa A, D, E [Option ID = 1060]

A W N -



Correct Answer :-
e A, Band Conly/dact A, B, C [Option ID = 1057]

11) The communication which happens outisde the realm of interpersonal communication is called

VA AFYYUT B ORI B3l ST 3 Sl odd: RARPD AFYUUT D SRR A 9162 BNl 3 -

[Question ID = 266][Question Description = S2_qSNz_PG_GP28_Q16]
. Interpersonal communication/sidzd=ifepa equor [Option ID = 1061]

. Intrapersonal communication/sfea: dufepa @wor [Option ID = 1062]

. Mass communication/sericmz [Option ID = 1063]

. Upward communication/3sedsza siwor [Option ID = 1064]

A W N -

Correct Answer :-
e |Interpersonal communication/siazdRifepa ot [Option ID = 1061]

12) In communication, cross-cultural barrier refers to:

I 3 uRARFDiae a1 Rl Hdfia 3 ¢

[Question ID = 267][Question Description = S2_qSNz_PG_GP28_Q17]
Physical entities/sfifera 2rar [Option ID = 1065]

Sincerity of speaker/acpr &t Jiforsar [Option ID = 1066]

Perceptions of people/cisit @ smadter [Option ID = 1067]

General human values/mieR1 arerdir sgc=r [Option ID = 1068]

A wWwN -

Correct Answer :-
e Physical entities/silfera 2rar [Option ID = 1065]

13) The communication between two or more persons who are subordinates working under the same person is an example
of :

I A1 <1 A 3iferd Aftpeal @ dik AFYHYI Sl b Sl RAfP D 31efiol DRI B2 3 8l, fbamI g 8 ©

[Question ID = 268][Question Description = S2_qSNz_PG_GP28_Q18]
1. Lateral communication/uifdas 3@wor [Option ID = 1069]

2. Upward communication/3sedga seiuur [Option ID = 1070]

3. Diagonal communication/faavf J@wor [Option ID = 1071]

4. Downward communication/srelga @guor [Option ID = 1072]

Correct Answer :-
e Lateral communication/urfedas 3ot [Option ID = 1069]

14) Chatting on WhatsApp is an example of

GBICAVU UR T ol fpAdT 318201 3 7

[Question ID = 269][Question Description = S2_qSNz_PG_GP28_Q19]
1. Synchronous communication/zm@iferas @gwor [Option ID = 1073]

2. Asynchronous communication/srmrmifeies 2euur [Option ID = 1074]

3. Non-verbal communication/stenfése @uur [Option ID = 1075]

4. Friendly communication/diefiyuf 3guur [Option ID = 1076]

Correct Answer :-
e Synchronous communication/3erpiferas equor [Option ID = 1073]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The classroom communication is a transactional process.
Reason R: Quality of questions asked determines the quality of learning.

In light of the above statements, choose the correct answer from the options given below

il €1 erol feu a1w 3 1 uep sifdraserat (Assertion A) & wu 3 3l ¢RI 3AD BRUT (Reason R) & »u 3 :
sif¥roeret (A) : DImE AFYUUI TD ARIAGRIIA Yipa &

®RYI (R) : g8 31w ygsll i spuradr 3if2eme & ajurasdn @l forerifea @il 3

SR Peoil D 3Icllid H, ofld fGu famcdl 3 A 7 3a= &1 Wil Hifsrw :

[Question ID = 270][Question Description = S2_qSNz_PG_GP28_Q20]



Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil A1 & 3k (R), (A) &t 38 =z 8 [Option ID = 1077]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) Gl 31 & weag (R), (A) &l 3t e oiét & [Option ID = 1078]
A is true but R is false/(A) 3= &, woqg (R) sri=x & [Option ID = 1079]

A is false but R is true/(A) srica &, wag (R) ;= & [Option ID = 1080]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3z (R) gleil 3 & 3ik (R), (A) &I 38t =z 8 [Option ID = 1077]

16) Water in a river flows at 15 km/hr and a man who runs his boat at a speed of 25 km/hr in still water, takes 7 hours to
go a certain distance upstream and then return to the starting point. Total distance covered by the man is

fep2it o1t 3 urellt @1 wera 15 fpeiisfies yfer der 3; v cuftp St oned urefl 3 25 fpeilsfies yfer d@er o aret A 3ruofl o detrar 3; v forfaa gft
IR @ AT SiTol 311R Yol: YeIlol fdg awm cilcal 3 7 @ oiar 3, dl 33 ARp RI a1 &l 3¢ @e gdl fepeofl 3 :

[Question ID = 271][Question Description = S2_qSNz_PG_GP28_Q21]
1. 62 Km/62 fdciisfic [Option ID = 1081]

2. 112 Km/112 fpeliafies [Option ID = 1082]

3. 92 Km/92 Rociwficz [Option ID = 1083]

4. 56 Km/56 foclaficz [Option ID = 1084]

Correct Answer :-
® 62 Km/62 favciefics [Option ID = 1081]

17) When a sum of money was distributed to 10 boys instead of 15 boys, each boy got Rs. 50 more. What was the sum?

S DI 3B 15 crsdl D T&IRT 10 casol d faafsa & siedt &, af gA® asd @t 50 wuv siféres gra 8la & ac 3o fodoft off ?

[Question ID = 272][Question Description = S2_qSNz_PG_GP28_Q22]
1. 1000/1000 wue [Option ID = 1085]
2. 1500/1500 »uw [Option ID = 1086]
3. 1200/1200 wue [Option ID = 1087]
4. 1250/1250 %uw [Option ID = 1088]

Correct Answer :-
e 1000/1000 3ue [Option ID = 1085]

18) Given below are two statements
Statement I: The single discount equivalent to a series discount of 10 %, 20 % and 30 % is 40 %
Statement II: The single discount equivalent to a series discount of 15 %, 25 % and 30 % is 50 %

In light of the above statements, choose the correct answer from the options given below

ofi <1 Dot Ru sme 3 :

o - | 1 10%, 20% 3z 30% &t gaciiag ¢ & AAGeA el ¢ 40% &I 3
@erot - |l 2 15%, 25% 3iiz 30% &t 9dciiayg ©c & e Tbd I¢ 50% &t 3
SWRIP Deell d 3irclld 3, o fu sre fameul 3 A 7Bl IR @I w6t BRI
[Question ID = 273][Question Description = S2_qSNz_PG_GP28_Q23]

1. Both Statement | and Statement Il are true/eret | 3iiz || Sloil 3i=r & [Option ID = 1089]

2. Both Statement | and Statement Il are false/@emr | 3iiz 1l Gleil sRic & [Option ID = 1090]

3. Statement | is true but Statement Il is false/@ermr | 3 &, fpoq Pere |l sri & [Option ID = 1091]
4. Statement | is false but Statement Il is true/@eret | 3RIca 3, fiboqg @eret |l =1 & [Option ID = 1092]

Correct Answer :-
e Both Statement | and Statement Il are true/emr | aiz |l gloif a1 & [Option ID = 1089]

19) Find the missing term in the following series

2,5,10,17, 26, ?

forgsiferRaa gjzci 3 o Jizoar arI 3 -

2,5,10,17, 26, ?

[Question ID = 274][Question Description = S2_qSNz_PG_GP28_Q24]
1. 35

[Option ID = 1093]
2. 36



[Option ID = 1094]
3. 37

[Option ID = 1095]
4. 38

[Option ID = 1096]

Correct Answer :-
e 35

[Option ID = 1093]

20) Given below are two statements
Statement I: The average of all prime numbers between 30 and 50 is 38.9 .
Statement II: The average of first 15 natural numbers is 150.

In light of the above statements, choose the correct answer from the options given below

il ol el fdu sre 3 ¢

@l - | : 30 3iiz 50 o dia it w6 Fizewnsil o1 siiera 38.9 3

@l - |l : gerr 15 yrapfere Jdizsensil o sira 150 3

SWwRIT @il @ sirclld 3, il fu s1e faweul 3 A JE IR @I a6l HifSre
[Question ID = 275][Question Description = S2_qSNz_PG_GP28_Q25]

Both Statement | and Statement Il are true/wmerer | 3 |l Gloil Ix & [Option ID = 1097]

Both Statement | and Statement Il are false/@merer | 3iiz 11 @loil 3Rt & [Option ID = 1098]
Statement | is true but Statement Il is false/@emwr | 311 8, fbog @ere |l sRicr & [Option ID = 1099]
Statement | is false but Statement Il is true/erml | sRIcI 8, fbog @eret |l 3t & [Option ID = 1100]

A WN -

Correct Answer :-

e Both Statement | and Statement Il are true/@ermr | aiiz |l gleif 31 & [Option ID = 1097]

21) Which one of the following options describes a valid deductive argument with all the premises and the conclusion as
True?

forgatfeilRaa af A ot - AT fadeu WA eI foEEcAd dw oI davfel wadr 3 Sraad Fefl e ara il forcad & &f ?

[Question ID = 276][Question Description = S2_qSNz_PG_GP28_Q26]
Probable Argument/z3isiie @ [Option ID = 1101]

Improbable Argument/srisire aa [Option ID = 1102]

Unsound Argument/219rp a@ [Option ID = 1103]

Sound Argument /@i aa [Option ID = 1104]

A W N -

Correct Answer :-
® Probable Argument/zistier @@ [Option ID = 1101]

22) Given below are two statements
Statement I: Two subcontrary propositions cannot both be false.
Statement Il: Two subcontrary propositions must both be true

In light of the above statements, choose the most appropriate answer from the options given below

ofil &I werer Ru are 3 :

P - | 1 31 Sufuf¥a carmarasl 3 2 el sTed o1&l 3 AP &

P - |l : 31 suffufya suraraRil 3 2 Sl6ll ol sra9 A dlen aIdu

SWRfTd Dol @ 3irciidd A, ofial feu a1g fameul 3 A W& IR DI arel BT :
[Question ID = 277][Question Description = S2_qSNz_PG_GP28_Q27]

Both Statement | and Statement Il are correct/wmeret | 3R || gloif 3@t & [Option ID = 1105]

Both Statement | and Statement Il are incorrect/aemer | 3iiz || Gleil steta & [Option ID = 1106]

Statement | is correct but Statement Il is incorrect/ et | 3@t 8, fpoq @l |l st & [Option ID = 1107]
Statement | is incorrect but Statement Il is correct/@emw | stera &, o et |l 3t & [Option ID = 1108]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/@memwr | iR 11 cloll 28t & [Option ID = 1105]

23) "Have you stopped stealing from your parents?” Which one of the following fallacies is committed in this argument ?



"1 gHol UGl AT - forar A dIst ol d¢ @2 fGa?” 59 aas A forgsiferf3aa 3 3 ®dlot - AT Qw3 ?

[Question ID = 278][Question Description = S2_qSNz_PG_GP28_Q28]
1. Appeal to Ignorance/ smwifdisicar @t sidier [Option ID = 1109]

2. Appeal to Pity/e=n @ fere sfler [Option ID = 1110]

3. Complex Question/sifeet ysat [Option ID = 1111]

4. Begging the Question/ysst g@en [Option ID = 1112]

Correct Answer :-
® Appeal to Ignorance/seifdrsiar @i sidier [Option ID = 1109]

24) Which of the following statements are true with reference to Vyapti (concomitance) according to the Nyaya system?
A. It expresses-the relation between two individuals objects only

B. It expresses the relation between the classes of individuals

C. It can be said to exist between two things if they are related as cause and effect.

D. It can be said to exist between two things if they are related as species and genus

Choose the correct answer from the options given below:

ATRIINR], D 3GRIR IfH & ol I forgaiferRaa 3 3 dlat - A ara A8 & ?

A. I8 AIq S 3eIPT eI a3l & die el Pl MHRTP Bl &

B. w1z cafts Aderil & S Ader B ifirers o 3

C. ¥31 el Sl ADdl & fp Afe Q1 avqu dRuI 3k BRI & U A AdRA &, dl Q1 aqggsil  da sorw! sif¥daca 3
D. afe <1 axqu Sifer siiz dor @ wu ¥ Jddfera 3, di TA1 a1 S ADbdl 8 b sADI sif¥ard A argali @ da 3
il fou o1 fraseul 3 3 I IR BT w6l HIfSIE ©

[Question ID = 279][Question Description = S2_qSNz_PG_GP28_Q29]

A, C and D only/dact A, C aiiz D [Option ID = 1113]
C and D only/daet C sfiz D [Option ID = 1114]
B and C only/dbaet B siiz C [Option ID = 1115]
B, C and D only/d@act B, C aiiz D [Option ID = 1116]

A W N -

Correct Answer :-
e A, Cand D only/aact A, C siiz D [Option ID = 1113]

25) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to the Nyaya system, when one observes smoke at a particular locus, one could infer that the same
locus has the presence of fire too.

Reason R: Fire causes smoke, and is always accompanied by smoke.

In light of the above statements, choose the correct answer from the options given below

il €1 erol i a1w 31 uop sifdraserat (Assertion A) & wu 3 3ii? ¢RI 3AD BRYT (Reason R) & wu 3 :

aifdreserct (A) : SARINRT @ 3IGRIR Sid DI fopdl fIT Fermet uz ¢3if $Taar 3, Al a8 3IgIuId a2 A & b IA FeIrel uz 3T oft 3
®RUT (R) @ gaif BT DRI 31181 3 3iiR S8l ¢3il BIAT 3, d8l 3IPI SRe2 BIdI &

SR Peoil D 3Icllid H, ofld fGu famcdl 3 A 78 3a= &1 wrRIel Hifsrw :

[Question ID = 280][Question Description = S2_qSNz_PG_GP28_Q30]

1. Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) dlall =1 8 3k (R), (A) &t 38 =z & [Option ID = 1117]

2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) Gl 31 & weag (R), (A) &l 3t sare oét & [Option ID = 1118]
3. Ais true but R is false/(A) 3= 3, weog (R) sri=r 8 [Option ID = 1119]

4. Ais false but R is true/(A) sri 8, woq (R) 3= & [Option ID = 1120]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 31 8 &iiz (R), (A) &t 31 @z & [Option ID = 1117]

26) Which Operating System is used by the Apple computer systems (an American technology company)?

QU DFRIeR Yulicdl (3 @il Gienf3rdt wusil) gRI @it - A sifudfesr Brzed @1 gieT fov= sirar 3 -

[Question ID = 281][Question Description = S2_qSNz_PG_GP28_Q31]
Linux/emsera=t [Option ID = 1121]

Windows/fdstsy [Option ID = 1122]

Solaris/2feif¥2r [Option ID = 1123]

Mac/#&a [Option ID = 1124]

A W N -



Correct Answer :-
® |inux/emser=t [Option ID = 1121]

27) What is Phishing?

fsf3ioer o= 3 ?

[Question ID = 282][Question Description = S2_qSNz_PG_GP28_Q32]

1. It uses networks to search out computers/us ®sRIc2 Ggol d fe1e slcdad @I gRiter aar & [Option ID = 1125]

2. Someone sends legitimate-looking emails to users/®IE caftp gRirepIsil @1 der f&ars ot aret $dtet distan 3 [Option ID = 1126]
3. Re-directs the user to a fake website /s yeiicpr @l sidell deise 6t 8l Yol: YR @ & [Option ID = 1127]

4. A key logging software/zs v & - difsier AdfwedRr 8 [Option ID = 1128]

Correct Answer :-
® |t uses networks to search out computers/us TFRIc2 Ggol D fe1u olcam @I Yl @ & [Option ID = 1125]

28) Given below are two statements regarding Denial of Service attacks
Statement I: It is an attempt at preventing users from accessing part of a network, notably internet servers.
Statement II: It can be mitigated by using email filters.

In light of the above statements, choose the correct answer from the options given below

ofi <1 perer Ru sme 3 :

Dol - | : $colc Aq13il DY aBg B DI YRIcol AHITALI Az YATHISH Dl olcad @ 33A fAdad: $czole Ad B Yra 2o A Adbol DI YATA &
@l - Il : § - Aca fcez o1 YRt B2 3 @ b i Adar 3

SWwRIP el d irelld 3, o e sre fameul 3 A 8l IR @I w6 BRI ©

[Question ID = 283][Question Description = S2_qSNz_PG_GP28_Q33]

Both Statement | and Statement Il are true/est | 3 |l G¥6il 31 & [Option ID = 1129]

Both Statement | and Statement Il are false/@emr | 3z |1 Gloil 3R & [Option ID = 1130]
Statement | is true but Statement Il is false/ermel | 31 8, fpog @eret |l sRicr & [Option ID = 1131]
Statement | is false but Statement Il is true/mepl | sRI=I &, fbog et |l A= & [Option ID = 1132]

A wWw N -

Correct Answer :-
e Both Statement | and Statement Il are true/aemr | aiz |l gloif A1 & [Option ID = 1129]

29) Following are some statements regarding software copyright. Choose the correct statements.
A. Use of a product key supplied with original software

B. Sign a licence agreement

C. Use of holograms on original packaging

D. Use of dongles to prevent illegal use.

Choose the correct answer from the options given below:

JAfredRR Bidkrse & JHde d BB Do $u 31w & A8l Beret BT wRiel HIfru :
A. difér AlTredRR & A1 Ygrd fopu 31w gisdac - &l a1 uRIeT

B. Iz R UR E3AISR Dol

C. 3¢t Udfidr ur Biciiofat BT YRIRT

D. 312 ®iooll IURNGT B Abal B fere Siorct oI IURAPT

ofid 3w a1 fweal & A A8 IR BT wRI6T HIRdIT :

[Question ID = 284][Question Description = S2_qSNz_PG_GP28_Q34]

. A, B and C only/daer A, B aiiz C [Option ID = 1133]
. B, Cand D only/daet B, C 3z D [Option ID = 1134]
. B and C only/dsae B siiz C [Option ID = 1135]

. A, B, Cand D/A, B, C iz D [Option ID = 1136]

A w N =

Correct Answer :-
e A, Band Conly/@ac A, B siiz C [Option ID = 1133]

30) Match List | with List I

List | List Il
Network Security Technique |Implementation Technique




IA. Symmetric encryption

I. Public and private key

B. Asymmetric encryption

Il. Digital signature

C. Authentication

lll. Secret key

D. Denial of Service Avoidance

IV. Email filter

Choose the correct answer from the options given below:

et -1 Bt el -1l A AR B

.

Rt -1 il

(olcaw RIaf¥t amoiia) (fpRIoaRIel ddboildhl)

A. JeIfdr werfiproret |. srdsifore iR forsit b1 (st
B. sr1AfIa woifdprorer Il. Bfttca seaigr

C. yaIvtol Ill. 3p71 &bt (a3sit)

D. Afdf=1 A aeor @1 Holl Bl IV. $3iet ez

il fou o1 frpeul 3 3 A I gforw ¢
[Question ID = 285][Question Description = S2_qSNz_PG_GP28_Q35]

11, B-1,C-1ll, D - IV [Option ID = 1137]
-1, B-1ll, C- 1V, D - Il [Option ID = 1138]
1, B-1,C-1I,D- IV [Option ID = 1139]
11, B-1,C- 1V, D - Il [Option ID = 1140]

Sl
> > > >

Correct Answer :-
e A-Il,B-1,C-Ill,D-IV[Option ID = 1137]

31) Given below are two statements
Statement I: Summer smog is primarily associated with photochemical formation of ozone and other pollutants
Statement Il: The Great Smog of London disaster, is a classic example of summer smog

In light of the above statements, choose the correct answer from the options given below

ofidl &I werer Ru ame 3 :

DG - | : I B DI YA DIsA XTI 3ISIlol 3R 3o=T Ygudl D Y19l FRIRIfoId (BIdIddra) foraior 2 Ss1 3
Dol - || : 3] cicol FHIGT IMUGT v B D Y DIe2 DI IcC IGIBWI 3

SWRfTd Dol @ 3irciidd A, ofial feu a1g fameul 3 A A& IR DI arel HIfSE :

[Question ID = 286][Question Description = S2_qSNz_PG_GP28_Q36]

1. Both Statement | and Statement Il are true/wmeet | 3z Il gloil 31=1 & [Option ID = 1141]

2. Both Statement | and Statement Il are false/aert | iz 1l Qleil sRicr & [Option ID = 1142]

3. Statement | is true but Statement Il is false/@eml | 3t &, fpoq et Il srir & [Option ID = 1143]
4. Statement | is false but Statement Il is true/evere | 3R 8, fboq @eret || 3 & [Option ID = 1144]

Correct Answer :-
e Both Statement | and Statement Il are true/@emwr | 3iR 11 Gloil 3 & [Option ID = 1141]

32) Which of the following are the main goals of the Convention on Biological Diversity's (CBD's)?
A. Protection of water resources

B. The conservation of biological diversity

C. Promotion of shifting agriculture

D. The sustainable use of biological components

E. Fair and equitable sharing of benefits arising from genetic resources

Choose the correct answer from the options given below:

Siq fafererar sifirera (IS @ g aga 3 :

A. STe1 JATErGI DT IHGI0T

B. Sia fafererar 1 Fzgor

C. 311 ofY @I Jathor

D. sfla fersiell fre®] @ Al 3uRer

E. sroqaifdrdhl arereil 3 3cuool il ol AR 3ii 3161 fasor

ofi o s1u fwedl & A A8 3R BT wRI6l BT :

[Question ID = 287][Question Description = S2_qSNz_PG_GP28_Q37]



A, B and C only/dact A, B aiiz C [Option ID = 1145]
A, C, and E only/daer A, C 3iiz E [Option ID = 1146]
B, D and E only/aact B, D siiz E [Option ID = 1147]
A, D and E only/d@ac A, D iz E [Option ID = 1148]

A WN -

Correct Answer :-
® A, Band C only/aac A, B iz C [Option ID = 1145]

33) Given below are two statements
Statement I: In waste water treatment systems, most of the large floating materials are removed in the screen chamber
Statement II: Colloidal and dissolved organic content of waste water are removed in the grit chamber

In light of the above statements, choose the most appropriate answer from the options given below

il ol el fdu sre 3 ¢

@erat - | : srufdrse ster 9nerst gutetl 3 siferapior a3 ol arcl ugrelf @1 Faiol Tdeaz 3 et fan smar &
@ - |l : 3rufdrse sTc1 @ Dlciizrsd 3R gerorofier ucref ol Bye dsa= 3 ser &= strar 3

SR> DUll B IIElID 3, ofil U s1u frapeul 3 A ABT IR DI TRIol DHIfTT :

[Question ID = 288][Question Description = S2_qSNz_PG_GP28_Q38]

1. Both Statement | and Statement Il are correct/@vermr | siiz |l Sieif 2t & [Option ID = 1149]

2. Both Statement | and Statement Il are incorrect/@eret | 3iiz || Sloil stera & [Option ID = 1150]

3. Statement | is correct but Statement Il is incorrect/@erwr | 3@t 3, fbog @eret |l sreia & [Option ID = 1151]
4. Statement | is incorrect but Statement Il is correct/emt | sie/ &, fpoq @eret Il 3t 8 [Option ID = 1152]

Correct Answer :-
e Both Statement | and Statement Il are correct/aemwr | aiiz |l cleil 3t @ [Option ID = 1149]

34) Which one of the following Articles of the Indian Constitution talks about our duty to protect the environment?

HRA @ JAfdenst & 5 sraeds 3 uAlavr T B gfer SAR o T Ieord 3 ¢

[Question ID = 289][Question Description = S2_qSNz_PG_GP28_Q39]
Article 51A(a)/smas 51 @ (@) [Option ID = 1153]
Article 51A(c)/3mgeds 51 @ (s1) [Option ID = 1154]
Article 51A(e)/smas 51 @ () [Option ID = 1155]
Article 51A(g)/3mcds 51 @ () [Option ID = 1156]

A W N -

Correct Answer :-
® Article 51A(a)/31gcas 51 @ (@) [Option ID = 1153]

35) Arrange the following naturally occuring Uranium isotopes in the correct sequence as per the proportion of occurence
A.U-234
B. U-235
C. U-238

Choose the correct answer from the options given below

gIfee U A Y JRforE @ fifticel Aarenferel @ glol @I A8l A a=I 3 ©

A.U-234
B. U- 235
C.U-238

oifd fu s1u farapeul 3 A 2 IR DI R DT
[Question ID = 290][Question Description = S2_qSNz_PG_GP28_Q40]

A, B, C [Option ID = 1157]
B, C, A [Option ID = 1158]
C, B, A [Option ID = 1159]
C, A, B [Option ID = 1160]

A W N -

Correct Answer :-
e A, B, C [Option ID = 1157]

36) How many Indian languages have been declared endangered by UNESCO?



feperofl siediRI HTHI31T D oIl GRI TAYRI Afye g srm 3 :

[Question ID = 291][Question Description = S2_qSNz_PG_GP28_Q41]
1. 47

[Option ID = 1161]
2. 87

[Option ID = 1162]
3. 117

[Option ID = 1163]
4. 197

[Option ID = 1164]

Correct Answer :-
o 47

[Option ID = 1161]

37) The major objective of value education in institutions is

el 3 e I8 DI JIRT 3L9A @RI 3 ?

[Question ID = 292][Question Description = S2_qSNz_PG_GP28_Q42]

1. Value for society/3wist @ fere ac= [Option ID = 1165]

2. Developing responsible and good citizens/3mcrf 3iiz 3d sPRI® i w2en [Option ID = 1166]

3. Developing ideal teachers/amgof forgie R @2en [Option ID = 1167]

4. Acquainting students with the value of education/fenfefRii ot fdrgm @ =1 A 3ras1a w2gaen [Option ID = 1168]

Correct Answer :-
e Value for society/mme @ fer ge=r [Option ID = 1165]

38) Which among the following are the main thrusts of the NEP-200 regarding institutional restructuring and consolidation?
A. A rigid separation of discipline, with early specialization and streaming of students into narrow areas of study

B. Developing a spectrum of institutions with a focus on research only

C. To establish stage-wise mechanism for granting graded autonomy to colleges

D. Developing vibrant communities of scholars, breaking down harmful silos, enable students in disciplines including artistic,
creative and sports

E. to end the fragmentation by transforming higher education institutions into large multidisciplinary universities

Choose the correct answer from the options given below:

AT Yol:3aRvI 3R AP D Hder i foraferRaa 3 A o forgn ofifer 2020 & Jzoua fig = 3 ?

A. 31161 @ JhIvt Il 3 o1 / S1qu3il df gritie faorysiar 3R sierre fa= @ el fawrIl o ¢ geradmor

B. ¥ Jiverdl faRa ool RSrRIw! ggRa earet ol A U= 3

C. ssIfrencrIl @1 uiiag FARMAI Yglol ®cl @ 18 TRUIe.g guiell Fefird wol

D. frgroll @I ATD AHGRI TR D3oll, SIOIPRD ATScll DI oIt Doll, BI - SII3II DI Dell, ol AR el A 3ro el 7 3rel Forron
E. Scamr 9ifdre Jverel @ gas sglawre frafdencr 3 uftvia o2 fesisiia:ur @ Aerm ol

ofid o s1u fwsedl & A A8 IR BT wRI6l BT :

[Question ID = 293][Question Description = S2_qSNz_PG_GP28_Q43]

A, B and C only/@aet A, B iz C [Option ID = 1169]
B, C and D only/d@aet B, C sfiz D [Option ID = 1170]
C, D and E only/a3ae C, D siiz E [Option ID = 1171]
A, D and E only/a@aet A, D siiz E [Option ID = 1172]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 1169]

39) Match List | with List Il

List | List Il

A. University Education Commission |I. Dr. L. Mudaliyar

B. Secondary Education Commission [Il. Dr. Radha Krishnan
C. Education Commission lll. Dr. Sam Pitroda
D. National Knowledge Commission [IV. Dr. D.S. Kothari
Choose the correct answer from the options given below:




et -1 Bt 3l -1l A AR Hifre

et - il

A. frafdemcr o181 sIRNGT I. 31 wer. goferrR

B. sexifdren frei sriler Il. 3i. arerrayeoret

C. forem sMmrIteI lll. st. 3¥a1 frer

D. IrcElRI Sirel SIRIPT IV. 3i. 1. w1 Rt

ofla fou o1 frpeul 3 3 A IR gforw ¢

[Question ID = 294][Question Description = S2_qSNz_PG_GP28_Q44]
A-1lll,B-1,C-1V,D- Il [Option ID = 1173]
A-11,B-1,C-1V,D-Ill [Option ID = 1174]

1.
2.
3. A-1IV,B-1l,C-1I, D - | [Option ID = 1175]
4. A-1,B-1l,C-1Il,D- IV [Option ID = 1176]

Correct Answer :-
e A-IlIl,B-1,C-1V,D- Il [Option ID = 1173]

40) Given below are two statements

Statement I: National Commission of Higher Education and Research (NCHER) is the apex regulatory body for Higher
Education in India

Statement II: The Independent Regulatory Authority for Higher Education will not be dealing with entry regulatory functions
of AICTE, MCI and BCl, as recommended by the National Knowledge Commission

In light of the above statements, choose the most appropriate answer from the options given below

il 1 perol fu s 3 :
Dl - | 1 AERT Icaar forei iR oner (wol Al wa € 3R) sIRA I IcaR 3RIPI @ ferw ofie fiformar® formorr 8

@erel - || : s et 3RIPT D Rw1iRer @ 6RIR 3Taa 1918 o fére Faded faformare yifdras=vr v 3ns 2t & $, war 2 an$ siiz & 2l s &
g9l ¥R @ AR yoril ol oidl J3en

SR> Dol @ Iclid 3, oifa v s1e fawmeul 3 A JE 3R @I el HIfSIE
[Question ID = 295][Question Description = S2_qSNz_PG_GP28_Q45]

1. Both Statement | and Statement Il are correct/aermr | siiz |l S6il 23t & [Option ID = 1177]

2. Both Statement | and Statement Il are incorrect/eret | 3iiz || Sloil siera & [Option ID = 1178]

3. Statement | is correct but Statement Il is incorrect/wmeret | 3@t 8, fpoq @ere | stera 8 [Option ID = 1179]
4. Statement | is incorrect but Statement Il is correct/weret | sicia 3, fboq weret || 318t & [Option ID = 1180]

Correct Answer :-
e Both Statement | and Statement Il are correct/@em | aiiz Il gleil a1t & [Option ID = 1177]

Topic:- GP_29NOV_SH2_C

1) Read the given passage and answer the questions that follow:

There is no such thing as memory in the sense of something that can be seen, touched or weighed. Memory is an
abstraction referring to a set of skills rather than to an object. Neither is there a single standard for judging a good or poor
memory. There are a number of different ways in which a person may have a ‘'good' memory.

Memory is generally viewed as consisting of three stages (1) Acquisition refers to learning the material; (2) Storage refers to
keeping the material in the brain until it is needed; and (3) Retrieval refers to getting the material back out when it is
needed. These three stages may be viewed the 4 R's of Remembering, Recording, Retaining and Retrieving.

Memory consists of at least two different processes: short-term memory and long-term memory. Short-term memory has a
limited capacity and rapid forgetting rate. Its capacity can be increased by chunking, or grouping separate bits of
information into larger chunks. Long-term memory has a virtually unlimited capacity.

One measure of memory is recall. In aided recall, cues help to produce information. A second measure of memory is
recognition in which one must be able to identify it when it is presented. In a third measure of memory, relearning, the
difference between how long it took to learn the material the first time and how long it takes to learn it again indicated
how much one can remember.

There are several explanations of why we forget. Passive-decay theory says that learning causes a physical 'trace’ in the
brain that decays with time. Repression theory says that we purposely push unpleasent memories into unconscious mind.
Systematic-distortion theory says that our memories may be distracted by our values and interests. Inference theory says
that forgetting is due to problems in retrieving the information, and that we can remember almost anything, if given right
cues.



forgotferR3ad sterior @ ufey itz gosil & saz v :

33 3tef A Farevur9iftb Sixft B st ol 3kt 3 Y San s Admar 8, Juef b= S Jrdsar 3 a1 dicl ST ADBdr & IIRUT IRD HarcHAD & PR
T D TSI DIYICIl DI dIel BIAl & o Al DIS UD I AGKD & FIRRI 3r<d! 3z FRIE FIRVI 9Iftd DI forviRn fdbwn St ¥ fafieet U 3 ADd 3
3t b2l cafes &f Fareur 91fts 'srcdll’ 8l ADCl 3

ARATGA: FIRVI TP DI cilol TRUII B 1Y 3 ST ST & : (1) YrRIvT ARE[ DI el A AdM 3; (2) 4SRRI S dd Ma9AD of 3l, ARTSD 3
AREJI DI 3ol A AR 3 5 3z (3) Yol: YIffT 3Ma9ADAI USel UR, ARISJI DI dIuRd I Pl A Adid & 3ol dlol arull @I ar 3R (R) -
Rdiaf¥el, NoifSar, NRfGier siie AR o Wu 3 ST i ADAr 3

THRVI 9IfRP 3 DA-A-PH <l ool gfdgame il 8 : srcumiferd Farviorte iR Sldopifcie FIRVIARP rcudIfcias FIRVI 9Iftp b Hfdra gerar iz
dig Rrervl &2 3kll 3 BT BSIE YyaUd SIIPR] @I SIS®R Al APFol GRI G SIIPR] Jollb? 33D gIrar 3 gl &l s Awdl 3 Sedwpiferd
Faurerfep &t gRIar avda: 3Rfifdra axdl 3

FIRVIIRP DI U HAIUD UG DWII 3 ABRICAI YIH AL D0l A ADd SIeIDR YIH Dol 3 ABRIP Bl 3 FHRVIARD DI GIRI ANUD 3ifIsirel
(Peopif3atoret) 3 R caftp @ fre 31 yda fopu Sirol UR UsdIeloll 3Ma9AD Il & FHRUIIRP @ dRIR A Yor: Hixol 3 uscll aR AERH @
el 3 o1 A 3R got: 32 Hlaal 3 oel W D i siar As coifar 3 b oI Reden arc o= Iwar 3

A Tl YeTd 3 - $AD] D3 AR 3l Ab«dl 8 URE RBD Rigia as waar 8 b sifeerr alare # ve sifere "Ris’ sotar 3 it e @ A1 fire
Sl 3 gdtel (Feggret) o1 Rigia as wedr & fob 831 JRilSeydd 3R[E®: IHICRII DI ra<idol #ol 3 &de od 8 Rredfes - $olar Rigia as
Dl 3 fb A FHRIT AR el AR SRR A gaIfdd 8l Addl & 3ieidIol I Rigia U8 dadl 3 b el O YoIgifit 3 AI=Imsil a5 PRUI
B 9cid 3 3R &I ABI D YId 3ol U= conIsT Wl aIed A6 B2 ADd &

Which one of the following is not a measure of memory?

forgatfeiRaa af A et AT FaAUTIRD BT ATUD ofdl 3 ?

[Question ID = 296][Question Description = S2_qSNz_PG_GP28_Q46]
1. Relearning/ygst: 3fteaen [Option ID = 1181]

2. Record/aifdcraa [Option ID = 1182]

3. Recognize/usarston [Option ID = 1183]

4. Recall/g @om [Option ID = 1184]

Correct Answer :-
® Relearning/yot: fixdon [Option ID = 1181]

2) Study the given table carefully and answer the questions that follow:

The given table has the number of candidates who appeared and qualified for an university entrance examination (in
thousands) in 5 different years. (A-Appeared, Q-Qualified).

BSc BA MSc MA
Q A Q A Q A Q
2016 3.4 (1.2 6.4 2.3 2.8 1.3 (@48 |24
2017 3.6 |L8 6.6 2.5 2.4 1.1 @47 23
2018 4.2 2.1 7.2 2.8 2.2 1.2 {46 |25
2019 4.8 2.3 6.8 2.6 2.5 1.2 (@49 27
2020 3.8 |19 7.4 3.2 2.6 1.3 [5.2 |32

Year

forgotferR3ad sterior @ ufey il gosil @ saz i :

33 31ef A Farur9Iftb Sift B st oidl Bkt 3 RRY San s Awar 8, Juel b= s Jrasar 3 =1 dicl ST ADBdr & IIRVT IRD sarcHAD 3 PR
I D ISIRI PI9Icil DI el BT & of dl DIF TP A AlIP 3 RPIRRI Tl 3R TRE FIRVI 9Iftp I forvf fdpen sre 821 fafdeer U 81 JA@d 3
13l fopil cafep &t Farrur 91t '3rcdl’ 31 ADddl 8

ARG FIRVI P DI cilol TRUIl B ¥4 3 ST ST 3 : (1) YrRIvT ARE[ DI e A Adf2M 3; (2) 4SRUI S dd Ma9Ad® of 3, ARTSD 3
ARESI DI 3ol A AR 3 ; 3z (3) Yol: YIffT 3@l USel U=, ARIPJI DI druRd I dl A Adid & 3ol dlol arull @I ar 3R (R) -
Ratafter, Rasifdsr, e sz Adfier & wu 3 a1 i wAmar 3

TRV 9IfRP 3 DA-A-DH 3l ool gfdgame 2l 8 : srcumifer FaRviorte 3R SlHeIfcies FIRVIIRP rcudmIicias FIRVI 9Iftp i Hifdra gerar ik
dig RrervI &2 3cll 3 BIET BIE YU SIIPR] I SIS®R Al APFol GRI Jo SIIPR] Tolldb? 33D gIrar 3 gy bl s Al 3 Sedwpiferd
Farvrerfes &t gRIar avda: 3Rfifdra axdl 3

FIRVIYIRP DI U HAUD UG DI 3 ABRIAI YIH AIG D! A ADA SIeIDR! YIH Dol 3 ABRID Bl 3 FHRVIARD DI GIRI ANUD ISt
(Pepifdatoret) 3 R cuftp @ fre 31 ydd fopu Sirol UR UsdIeloll 39D Il 8 FHRUIIRP @ dRR Aa® Yor: Hixol 3 uscll R AERH @
el 3 o A 3R got: 33 Hlaa 3 oPl W D Sl siar As coifar 3 5 B Reden A6 o= Jwar 3

A T eI 3 - D] D3 AR 3l Ab«dl 3 URM BD Rigia as waar 3 b sifeerr alase # ve silfere "Ris’ sotar 3 Sl e @ A1 fire
Sl 3 3ol (RY9rel) @I Rigida as @adl & fb &1 YRIISlolgdd 3RIF®2 FHICRII DI 3ra<ide] Hol 3 &bl ¢d 8 Riedified - 3xiolar Rigia as
Dl 3 b A FHPCRIT 3R el AR SRR A gHIfdd 8l Adddl & 3ieldTol I RIgia U8 adl & b el Ol YoIgifit 3 AI=Imsil a5 PRUI
B el 8 3R &I ABI D Yrd 2ol U= coBET Wl aKed A6 D2 ADd &



What are the constituent elements of memory in the order presented by the author?

REI® SRI Ydd o @at d Farvr 91ftp @ 3| 8 ?

[Question ID = 297][Question Description = S2_qSNz_PG_GP28_Q47]
1. Store-Acquire-Retrieve/#iSRur - g @l - Yol: yrd @i [Option ID = 1185]

2. Acquire-Retrieve-Store/yra @l - Yol: Y @l - sisrul [Option ID = 1186]

3. Acquire-Store-Retrieve/yrda @l - $iSRUI - Yok: yrd 2ol [Option ID = 1187]

4. Recall-Retrieve-Recognize/are @36l - Yol: Yl @ell - usdreiell [Option ID = 1188]

Correct Answer :-
® Store-Acquire-Retrieve/siSIur - Yl @3l - Yol: Yrd Bb2an [Option ID = 1185]

3) Read the given passage and answer the questions that follow:

There is no such thing as memory in the sense of something that can be seen, touched or weighed. Memory is an
abstraction referring to a set of skills rather than to an object. Neither is there a single standard for judging a good or poor
memory. There are a number of different ways in which a person may have a 'good’' memory.

Memory is generally viewed as consisting of three stages (1) Acquisition refers to learning the material; (2) Storage refers to
keeping the material in the brain until it is needed; and (3) Retrieval refers to getting the material back out when it is
needed. These three stages may be viewed the 4 R's of Remembering, Recording, Retaining and Retrieving.

Memory consists of at least two different processes: short-term memory and long-term memory. Short-term memory has a
limited capacity and rapid forgetting rate. Its capacity can be increased by chunking, or grouping separate bits of
information into larger chunks. Long-term memory has a virtually unlimited capacity.

One measure of memory is recall. In aided recall, cues help to produce information. A second measure of memory is
recognition in which one must be able to identify it when it is presented. In a third measure of memory, relearning, the
difference between how long it took to learn the material the first time and how long it takes to learn it again indicated
how much one can remember.

There are several explanations of why we forget. Passive-decay theory says that learning causes a physical ‘trace’ in the
brain that decays with time. Repression theory says that we purposely push unpleasent memories into unconscious mind.
Systematic-distortion theory says that our memories may be distracted by our values and interests. Inference theory says
that forgetting is due to problems in retrieving the information, and that we can remember almost anything, if given right
cues.

forraiferRae srerior o ufe$u iz yosil & 3R difmo :

33 3tef A FeuroIftb Sixft B st ol 3kt 3 oY Sar s A®mar 8, Juel b S Jrdsar 3 A1 dicl ST ADddr & IIRUT IRD MacdAD & PR
¥ D TSIRT BIIC DI &IET BT & of dl DIS TP I AID & PRI Tl 3R R FIRvT 91fts @1 forvfr fdpen se ¥ fafdcer U a1 Jwmd 3
131 fopel cafes dF Fareur o1fts 'srcdll’ a1 AmCl 3

AATGA: FIRVI TP DI cilol TRUII B 1Y 3 ST ST & : (1) YrRIvT ARE] DI el A AdM 3; (2) 4SRRI S dd MaRA® of 3, ARTSD 3
AREJI DI 2ol A A 3 ; 3R (3) Yol: YIffT 3Ma9ADAI USel U, ARISJI DI dIuA Yre Pl A Adid & 3ol «iol a=ull @I ar 3R (R) -
Raiaf¥er, NoifSar, NRfGier siie AQRET B WU A ST I ADAr 3

FIRVT OIfRF 3 BH-A-BA 3 freol YRpG 2kl T : srcumiferas FIRVIIRE 3iir Siediferd vt sicudIictas FRuT oIftp &t M grrar iz
dig forarRYI 52 B3Il 3 VI VI YU SIGIDRl Bl SIS®2 Al Aol SRI JoTR SIGIPRI dolld2 3D grIdr A gig Dl o Abdl 3 SiElpiferd
FavIeIfep bt gRIaT avda: 3Rfifdra aidl 3

FIRVIIRD DI U HAIUD Al DI 3 ASRIAL YIH AIG D0l A ADd SIeIDR] YIH Dol 3 ABRID Bl 3 FHAVIARD DI GIRI AIUD 3fIsirel
(Peopif3atoret) 3 R caftp @ fere 331 yda fpu Sirol UR usdieloll 3a9AD Il 8 FHRUIIRP @ R A Yor: Hixmol 3 uscll aR AERH @
2fizaor 3 o1 FRT 3R gor: 33 Al 3 oe) W & i siar us goifar 3 s oI fopdon ae ©2 Awar &

BH TRII YCIcl 3 - FIAhI DS AR 3l Al & URMa B Rigia Aas wear 8 & sifeerer aiase 3 v siifers 'Ris' getrar 3 it R @ A9 fUie
SIrer & catel (Rerer) o1 Rigia as @waar & b &1 YRilslolgde 3RRA®2 IHICRII I racidel ol 3 edd Sd &8 RBredRke - 3ol Rigia as
@l 3 fob a1l TR AR el 3R BRI 2 gaaifdd 8l AAd«dl & 3ieldrol @I Rigia Us dadl 3 b Jaetaii bl Yorgifis 3 Haz=arsil & BRI
3 eId 3 MR 3A ABl ADA YId Blol U= clonEI AWl dIc UG B2 ADd 3

Memory not a sensory experience because it is a/an

FIRUIgIRD sfocl 1 sropra ol ofdl 8 ?

[Question ID = 298][Question Description = S2_qSNz_PG_GP28_Q48]

1. Concrete skill/a=iifes =8 e Plore & [Option ID = 1189]

2. Value/==iifes =6 a1 8 [Option ID = 1190]

3. Hybrid skill/aw=iifts @18 2z @wleret 2 [Option ID = 1191]

4. Absence of single standard for judging the quality of memory/aurerfp &t spuradr @ Jcriicool @ fore udbd Aol B 3191d @ brul [Option ID = 1192]

Correct Answer :-



® Concrete skill/aiifes =18 3t wioret 3 [Option ID = 1189]

4) Read the given passage and answer the questions that follow:

There is no such thing as memory in the sense of something that can be seen, touched or weighed. Memory is an
abstraction referring to a set of skills rather than to an object. Neither is there a single standard for judging a good or poor
memory. There are a number of different ways in which a person may have a ‘'good' memory.

Memory is generally viewed as consisting of three stages (1) Acquisition refers to learning the material; (2) Storage refers to
keeping the material in the brain until it is needed; and (3) Retrieval refers to getting the material back out when it is
needed. These three stages may be viewed the 4 R's of Remembering, Recording, Retaining and Retrieving.

Memory consists of at least two different processes: short-term memory and long-term memory. Short-term memory has a
limited capacity and rapid forgetting rate. Its capacity can be increased by chunking, or grouping separate bits of
information into larger chunks. Long-term memory has a virtually unlimited capacity.

One measure of memory is recall. In aided recall, cues help to produce information. A second measure of memory is
recognition in which one must be able to identify it when it is presented. In a third measure of memory, relearning, the
difference between how long it took to learn the material the first time and how long it takes to learn it again indicated
how much one can remember.

There are several explanations of why we forget. Passive-decay theory says that learning causes a physical ‘trace’ in the
brain that decays with time. Repression theory says that we purposely push unpleasent memories into unconscious mind.
Systematic-distortion theory says that our memories may be distracted by our values and interests. Inference theory says
that forgetting is due to problems in retrieving the information, and that we can remember almost anything, if given right
cues.

forgotferRae sterior o ufeu iz yooil @ 3ar S :

51 sref A Farrurerip Sidfl dIE <iist ordl aldl 2 BRY S¥ar st Addar 8, Fuel fdben St Adar 3 A1 dlcll SIf ADGAr 3 FARVT Ik HdIcHD 3 oY
Q¥ D TOIRT P9I T diEf Sdr 3 of dl DI TP A Alold & RPRRY srcedl 3R TR F9vr 91fep @1 forvf fpen s ¥ faftieet 3a A aAwa 3
113 fopet cafep &b Farzur o1ftp ‘srcall’ a1 Dl 3

ARG FIRVI P DI cilcl TRUIl B 14 3 ST ST 3 : (1) YrRIvT ARE[ DI el A Adf2M 3; (2) 4SRUI S dd Ma9AD of 3, ARTSD 3
ARESI DI 3ol A AR 3 ; 3z (3) Yol: YIffT 3Ma9ADAI USel UR, ARIPJI DI dIuRd I dl A Adid & ol diol arull @I ar 3R (R) -
fdiafisr, frwifdsr, ot siiz Hdfder @5 wu A ST s IAdar 3

FIRUT OIftp 3 DBH-A-BA 3l Bcol Yfps gl 3 : sicumifera FaRvIgIRD 3iiz Sidmiferm FaRvIotp sicudmiictas Fa=ur oIftp &t Hfdra gerar iz
dig fazaru1 2 Bl 3 BIEl BIET YD SIIGIDRI Dl SHS®2 AT Aol GRI g&TIR SIGIDRI Folld 3AD] §1dl 3 gig Dl oI Addl 3 Sielpiiciad
Faoterfes bt gpIar avda: srfifdra axdl 3

TIRUIGIFD DI UD HATUD AIG Dl 3 ASRIAT YIH AT DIt 3 JDA SIIBHl YIH B0} 3 AGRIPB 3l 3 VRS DI gIRT A1UD il
(Peopifdatoret) 3 R cuftp @ fére 331 yda fopu Sirol UR UsdIeloll 3Ma9A® Il & FHRUIIRP @ dRR Au® Yor: Hixol 3 uscll arR AERH @f
el 3 o1 A9 3R got: 3 el A oPl W D ST siaR As corlar 3 s B feden A6 o JAwar 3

A I eI 3 - D] P AR 3l Ab«dl 3 URM 3D Rigia as wear 3 b sifeerr alRase # ve siifere "Ris’ detar 3 Sl 2er1 & 1 fire
SIrar 3 <ol (RY9rer) @1 Rigia s @adl & b a1 PRilslolgd® 3RIF®2 FHICRIT DI 3ra<ide] Hol 3 &dd ¢d 8 Redifed - 3ciolar Rigia as
Dedl & b SART TP AR Al 3MiR BRIl A Yorfdd 2l Adddl 3 3igldTel DI RIgGA As dadl & fob I olsll Bl YoIgifil I AI=A13ll B BRUT
B 9Jcid 8 3R &I ABI ADd Yrd Blol U= coBeET Ml aKd A6 B2 ADd &

"Systematic-distortion theory” offers an explanation for

'‘Breedfes - Bciolar’ Rigia fpardl ®imrean @ 8 :

[Question ID = 299][Question Description = S2_qSNz_PG_GP28_Q49]
Remembering/=ng @z [Option ID = 1193]

Acquiring/qm @en [Option ID = 1194]

. Forgetting/getem [Option ID = 1195]
. Retrieving/yet: gret e [Option ID = 1196]

A wWN =

Correct Answer :-
® Remembering/=ng @an [Option ID = 1193]

5) Read the given passage and answer the questions that follow:

There is no such thing as memory in the sense of something that can be seen, touched or weighed. Memory is an
abstraction referring to a set of skills rather than to an object. Neither is there a single standard for judging a good or poor
memory. There are a number of different ways in which a person may have a 'good' memory.

Memory is generally viewed as consisting of three stages (1) Acquisition refers to learning the material; (2) Storage refers to
keeping the material in the brain until it is needed; and (3) Retrieval refers to getting the material back out when it is



needed. These three stages may be viewed the 4 R's of Remembering, Recording, Retaining and Retrieving.

Memory consists of at least two different processes: short-term memory and long-term memory. Short-term memory has a
limited capacity and rapid forgetting rate. Its capacity can be increased by chunking, or grouping separate bits of
information into larger chunks. Long-term memory has a virtually unlimited capacity.

One measure of memory is recall. In aided recall, cues help to produce information. A second measure of memory is
recognition in which one must be able to identify it when it is presented. In a third measure of memory, relearning, the
difference between how long it took to learn the material the first time and how long it takes to learn it again indicated
how much one can remember.

There are several explanations of why we forget. Passive-decay theory says that learning causes a physical 'trace’ in the
brain that decays with time. Repression theory says that we purposely push unpleasent memories into unconscious mind.
Systematic-distortion theory says that our memories may be distracted by our values and interests. Inference theory says
that forgetting is due to problems in retrieving the information, and that we can remember almost anything, if given right
cues.

forgoiferRaa sterior ol ufeu 3iiz Yool @ IR SIS :

3 31ef A FRuI9Ifth Sift ®I$ et oidl Bicdl 3 RRY Sar st A®mar 8, Juef v S Jrdsar 3 &1 Al ST ADdr & FIRVI IRD HAHAD & RRRY
a¥q D ISIRI PIIcil DI ¢l BIdl & of dl DI$ TP I Alold 3 SRR 3T 3R FRIE IIRVI D I forvia fdpan sire ¥R fafdieor U 81 Amd 8
fS1re1dt fopdl cafes &t Farzor 91ftp ‘srcell’ A1 Al 3

ARAIGAT: FIRVI TP DI cilol TRVl B 1Y 3 ST ST & : (1) GrRIvT ARRY DI HRdel A AR 3; (2) %SRRI Sl dd MAaRAP of al, ARTSD 3
ARR] DI ol A AFEieEa 3 ; 3R (3) gor: YIfft sraeAedr usel Uz, AREJ DI dIuA Yr a2l A AHdfea & s diol arvll @l ar 3R (R) -
Ratafier, Rasifdsr, e siiz AdfieT & Wu 3 a1 s Irwar 3

FIRVT IIfRP 3 BH-A-BA < fBreol YREG 2kl T : srcumifera FIRVIINRE 3iiz SHHdbIftiad FIRVIIRE sicudIictas FIRuT 9Iftp &I M grrar iz
dig fRreRv1 <2 3l 3 BIET BIE YD SICIDR] I SHS®R Al AHPFel GRI g SIeIDR] Solldp? 3] g13rar 3 gl bl s Awddl 3 Sedwpiferd
FIRUIgIp &l grerar avga: srfifda 8l 3

FIRUIIRP DI UDh AUD AIG DWI 3 ASRIAI YIH AIG D0l A ADd SIeIDRI YIH Dol 3 ABRID Bl 3 FHAVIARD DI GIRI AIUD 31TISirel
(Fepifdstoret) 3 el caftd @ férw 31 Yqa fbu Sirol UR Usdielol MA9Ad BIdl & IIRVIYIRP @ i ATu® Yot: il 3 uscll ar AwEE] ot
izt 3 1Pt FRT 3i1R gor: 33 Al 3 oe) R & i siar us goifar 3 s oI fopdon are &2 Awar &

BH TRII YCTdl & - S DS AR 3l Al & URMa 3D Rigia As wear & & sifeerer alace 3 v siiferd e’ detrar 8 S e @ A1 e
SIrr & el (RYerer) o1 Rigia as @wadr & b a1 YRilslolgde 3RRA®2 THICRII I 3raaidel ol 3 erdd Sd & RredRRe - 3iofer Rigia as
Dol 3 b sardl Fgferit sa el iz SRRl 2 Yonfda 8 Addl & s1oTel @I Rigida As wadl 3 [ Faetisii &bl gergifft 3 Fer=amsil & drul
39 91cId 3 3iIR &9 A8l D YA Blol UR cPneI Al aKd A6 @2 ADd 3

This text can be taken as an answer to which one of the following questions?

331 sreEnyl ol forvorfeiRaa 3 2 b1 Yoot @ IR D U A ST ST ADdr & ?

[Question ID = 300][Question Description = S2_qSNz_PG_GP28_Q50]
1. How can we measure memory?/s# J#RueIch dl B AU Add & ¢ [Option ID = 1197]
2. Why do we forget?/ss o=t sfera 3 ? [Option ID = 1198]

3. What is memory?/3aRumelfep a=r & ? [Option ID = 1199]

4. What are the types of memory?/3suioles @ yorR @=n 3 ? [Option ID = 1200]

Correct Answer :-
® How can we measure memory?/a IR @l A 3 b & ? [Option ID = 1197]





